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9B1H(A) =y &l 10 13,000 79%
9H2H(X) = =l 10 11,000 82%
9H3H(7K) =y &l 10 11,000 82%
9H4H(RK) = =l 10 11,000 82%
9B6H(1) = &l 10 13,000 79%
9H7H(H) = =l 10 13,000 79%
9H8H(A) =y &l 10 13,000 79%
9H10H(7K) = =l 10 11,000 82%
9H14H(H) =y &l 10 20,000 67%
9H16H(N) = =l 10 11,000 82%
9H17H(K) =y & 10 11,000 82%
98 18H(K) =y &l 10 11,000 82%
9H19H (&) =y & 10 12,000 80%
9H21H(H) = f& i 10 20,000 67%
9H22H(A) =y & 10 13,000 79%
9H23H(N) = f& i 10 21,000 66%
9H24H (/K) =y & 10 11,000 82%
98 25H(XK) =y =l 10 11,000 82%
9H26H (&) =y & 10 13,000 79%
9828H(H) = f& i 10 13,000 79%
9H29H(B) =y & 10 13,000 79%
9H30H(N) = &l 10 11,000 82%
10818(K) =y & 10 10,000 84%
1082H(K) = f& ) 10 10,000 84%
1085H(H) =y & 10 12,000 80%
10H6H(H) = & 10 12,000 80%
10878(X) =y & 10 10,000 84%
1088H(K) = f& ) 10 10,000 84%
1089H(XK) =y & 10 10,000 84%
10814H(N) = f& ) 10 10,000 84%
108 15H(K) =y & 10 10,000 84%
108 16H(AK) = f& ) 10 10,000 84%
10817H(&) =y & 10 12,000 80%
10818H(%) = & 10 12,000 80%
10819H(H) =y & 10 12,000 80%
10H20H(H) = =] 10 12,000 80%
10821H(CN) = & 10 10,000 84%
10822H(K) = =) 10 10,000 84%
9H1H(A) & = 11 12,000 80%
9H2H(N) &[] =} 11 10,000 84%
9H3H(K) & = 11 10,000 84%
9H5H (&) &[] =} 11 12,000 80%
9B6H (L) & = 11 12,000 80%
9H7H(H) &[] =} 11 12,000 80%
9H8H(A) & = 11 12,000 80%
9H9H(N) &) =} 11 10,000 84%
9H10H(/K) & = 11 10,000 84%
98 11H(XK) f& ) = 11 10,000 84%
98 12H(&) & = 11 10,000 84%
9H14H(H) &[] = 11 19,000 69%
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9H15H(H) &l =) 11 20,000 67%
9H16H(X) & e 11 10,000 84%
9H17H(K) &l =) 11 10,000 84%
9H18H(XK) & e 11 10,000 84%
9H19H(&) &l =) 11 12,000 80%
9H21H(H) & e 11 19,000 69%
9H22H(H) &l =) 11 12,000 80%
9H23H(X) & e 11 20,000 67%
9H24H(K) &l =) 11 10,000 84%
9H25H(K) & e 11 10,000 84%
9H26H(%&) &l =) 11 12,000 80%
9H27H(X) & e 11 12,000 80%
9H28H(H) &l =) 11 12,000 80%
9H29H(H) &l =) 11 12,000 80%
9H30H(X) &l e 11 10,000 84%
10H1H(K) &l =) 11 9,000 85%
10H2H(K) &l e 11 9,000 85%
10H3H(%) &l = 11 11,000 82%
10H4H(LX) &l e 11 11,000 82%
10HA5H(H) &l =) 11 11,000 82%
10H6H(H) &l e 11 11,000 82%
10B7H(CX) &l =) 11 9,000 85%
10H8H(K) &l e 11 9,000 85%
10H9H(K) &l =) 11 9,000 85%
10H10H(%) &l e 11 11,000 82%
10H12H(H) &l = 11 19,000 69%
10H13H(H) &l file 11 20,000 67%
10H14H(N) &l = 11 9,000 85%
10H15H0K) &l file 11 9,000 85%
10H16H(K) &l = 11 9,000 85%
10H17H(£&) &l file 11 11,000 82%
10H18H(%) &l = 11 11,000 82%
10H19H(H) &l file 11 11,000 82%
10H20H(H) &l =) 11 11,000 82%
10H21H(A) &l file 11 9,000 85%
10H22H(K) &l = 11 9,000 85%
10H23H(XK) &l file 11 9,000 85%
10H24H(%) &l = 11 11,000 82%
10H25H(%) &l file 11 11,000 82%
9H1H(H) =) &l 12 13,000 79%

9H2H(N) =) ] 12 11,000 82%

9H3H(K) =) &l 12 11,000 82%

9H4H(K) =) ] 12 11,000 82%

9H5H(%&) =) &l 12 13,000 79%

9H7H(H) =) &l 12 13,000 79%

9H8H(H) =) &l 12 13,000 79%

9H9H(N) =) e ] 12 11,100 82%

9OH12H(%&) =) &l 12 13,000 79%
9H14H(H) =) &l 12 20,000 67%
9H16H(N) =) &l 12 11,000 82%
9H17H(K) =) e ] 12 11,000 82%
9H18H(XK) =) &l 12 11,000 82%
9OH19H(&) e &l 12 13,000 79%
9H21H(H) =) &l 12 20,000 67%
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9H22H(H) =) &l 12 13,000 79%
9H25H(K) e &l 12 11,000 82%
9H26H(%&) =) &l 12 13,000 79%
9H28H(H) e &l 12 13,000 79%
9H29H(H) =) &l 12 13,000 79%
9H30H(X) e &l 12 11,000 82%
10H1H(K) =) &l 12 10,000 84%
10H2H(K) e &l 12 10,000 84%
10H3H(E) =) &l 12 12,000 80%
10H4H(XL) e &l 12 12,000 80%
10H5H(H) =) &l 12 12,000 80%
10H6H(H) e &l 12 12,000 80%
10H7H(X) =) &l 12 10,000 84%
10H8H(K) NS, &l 12 10,000 84%
10H9H(K) =) &l 12 10,000 84%
10H12H(H) NS &l 12 20,000 67%
1051480 =) &l 12 10,000 84%
10H15H0K) NS, &l 12 10,000 84%
10H16H(XK) =) &l 12 10,000 84%
10H17H(%®) NS &l 12 12,000 80%
10H18H(%) =) &l 12 12,000 80%
10H19H(H) NS, &l 12 12,000 80%
10H20H(H) =) &l 12 12,000 80%
10H21HN) NS &l 12 10,000 84%
10H22H(K) =) &l 12 10,000 84%
10H24H(%) NS, &l 12 12,000 80%
10H25H(%) =) &l 12 12,000 80%
9H1H(H) &l = 13 12,000 80%

9H2H(N) &l file 13 10,000 84%

9H3H(K) &l = 13 10,000 84%

9OHS5H(%E) &l file 13 12,000 80%

9H6H(L) &l = 13 12,000 80%

9”A7H(H) &l file 13 12,000 80%

9H8H(H) &l = 13 12,000 80%

9H9H(AN) &l file 13 10,000 84%

9H10H(K) &l = 13 10,000 84%
9H11H(RK) &l file 13 10,000 84%
9OH12H(%&) &l = 13 12,000 80%
9H14H(H) &l file 13 19,000 69%
9H16H(N) &l =) 13 10,000 84%
9H17H(K) &l =) 13 10,000 84%
9H18H(XK) &l =) 13 10,000 84%
9OH19H(&) &l =) 13 12,000 80%
9H20H(%) &l =) 13 20,000 67%
9H21H(H) &l =) 13 19,000 69%
9H22H(H) &l =) 13 12,000 80%
9H23H(X) &l =) 13 20,000 67%
9H25H(XK) &l =) 13 10,000 84%
9OH26H(&) &l =) 13 12,000 80%
9H27H(X) &l =) 13 12,000 80%
9H28H(H) &l =) 13 12,000 80%
9H29H(H) &l =) 13 12,000 80%
9H30H(N) & =) 13 10,000 84%
10H1H(K) &l =) 13 9,000 85%
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10H2H(K) f& ] e 13 9,000 85%
10H3H(E) &l = 13 11,000 82%
10H4H(XL) &l =) 13 11,000 82%
10H5H(H) &l = 13 11,000 82%
10H6H(H) &l =) 13 11,000 82%
1087H(X) &l = 13 9,000 85%
10H8H(K) f& ] e 13 9,000 85%
10H9H(K) &l = 13 9,000 85%
10H10H (&) &l =) 13 11,000 82%
10H12H(H) &l = 13 19,000 69%
10H13H(H) &l =) 13 20,000 67%
10H14H(N) &l = 13 9,000 85%
10H15H(K) e ] e 13 9,000 85%
10H16H(XK) &l il= 13 9,000 85%
10H17H(&) &l =) 13 11,000 82%
10H18H(X) &l il= 13 11,000 82%
10H19H(H) &l =) 13 11,000 82%
10H20H(H) &l il= 13 11,000 82%
10H21H(AN) & ] =) 13 9,000 85%
10H22H(K) &l il= 13 9,000 85%
10H23H(K) & ] =) 13 9,000 85%
10H24H(%&) &l il= 13 11,000 82%
10H25H(%) &l =) 13 11,000 82%
9H1H((A) = e ] 14 13,000 79%
9H2H(X) =y @] 14 11,000 82%
9H3H(K) =y &l 14 11,000 82%
9H4H(K) = ] 14 11,000 82%
9H6H(L) =3 &l 14 13,000 79%
9HB8H(A) = ] 14 13,000 79%
9H10H(K) =3 &l 14 11,000 82%
9H11H(K) = ] 14 11,000 82%
9H14H(H) =3 &l 14 20,000 67%
9H15H(H) = ] 14 21,000 66%
9H16H(X) =3 &l 14 11,000 82%
9H17H(K) = ] 14 11,000 82%
9H18H(K) =3 &l 14 11,000 82%
9H20H(x) =y ] 14 21,000 66%
9H21H(H) =3 &l 14 20,000 67%
9822H(H) = ] 14 13,000 79%
9H23H(X) W=y &l 14 21,000 66%
9H24H(K) W=y il 14 11,000 82%
9H25H(K) W=y &l 14 11,000 82%
9H26H(:&) W=y ] 14 13,000 79%
9H27H(L) W=y &l 14 13,000 79%
9H28H(H) W=y e ] 14 13,000 79%
9H29H(H) W=y &l 14 13,000 79%
9H30H(X) W=y il 14 11,000 82%
10H1H(K) W=y &l 14 10,000 84%
10H2H(K) = fE 14 10,000 84%
10H3H(GER) =y &l 14 12,000 80%
10H4H(L) = e ] 14 12,000 80%
1085H(H) =y &l 14 12,000 80%
10H6H(AH) = &l 14 12,000 80%
10H7H(X) =y &l 14 10,000 84%
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10H8H(K) W=y @] 14 10,000 84%
10H9H(K) NS, &l 14 10,000 84%
10H12H(H) W=y @] 14 20,000 67%
10H14H(N) NS, &l 14 10,000 84%
10H15H(K) W=y @] 14 10,000 84%
10H16H(XK) NS, &l 14 10,000 84%
10H18H(%) W=y @] 14 12,000 80%
10H19H(H) NS, &l 14 12,000 80%
10H20H((H) W=y @] 14 12,000 80%
10H21H(N) NS, &l 14 10,000 84%
10H22H(K) W=y @] 14 10,000 84%
10H23H(K) NS, &l 14 10,000 84%
10H25H(%) W= @] 14 12,000 80%
9OH2B(X) &l il= 15 11,000 82%
9H4H(RK) & ] =) 15 11,000 82%
9H5H(:E) &l il= 15 13,000 79%
9H6H(L) &l =) 15 13,000 79%
9H7H(H) &l il= 15 13,000 79%
9H8H(A) &l =) 15 13,000 79%
9H9H(X) &l il= 15 11,000 82%
9H10H(K) & ] =) 15 11,000 82%
9H11H(K) &l il= 15 11,000 82%
OH12H(&) &l =) 15 13,000 79%
9H16H(N) &l il= 15 11,000 82%
9H17H(K) & ] =) 15 11,000 82%
9H18H(K) &l = 15 11,000 82%
9H19H(:&) &l =) 15 13,000 79%
9H20H(%) &l =3 15 21,000 66%
9821H(H) &l =) 15 20,000 67%
9H22H(H) &l =3 15 13,000 79%
9H23H(N) & =) 15 21,000 66%
9H24H(K) &l =3 15 11,000 82%
9H25H(K) & =) 15 11,000 82%
9H26H(%&) &l =3 15 13,000 79%
9H27H(X) &l =) 15 13,000 79%
9H28H(H) &l =3 15 13,000 79%
9829H(H) & =y 15 13,000 79%
9H30H(XN) &l =3 15 11,000 82%
10H1H(K) & =) 15 10,000 84%
10H2H(K) &l =3 15 10,000 84%
10H4H(L) &l =) 15 12,000 80%
1085H(H) &l =3 15 12,000 80%
10H6H(H) &l (= 15 12,000 80%
10H7H(X) &l =3 15 10,000 84%
10H8H(K) &l (= 15 10,000 84%
10H9H(RK) &l =3 15 10,000 84%
10H10H(%&) &l =) 15 12,000 80%
10H14H(N) &l =3 15 10,000 84%
10H15H(K) &l (= 15 10,000 84%
10H16H(K) &l =3 15 10,000 84%
10H17H(%&) &l = 15 12,000 80%
10H18H(%) &l =3 15 12,000 80%
10H19H(H) &l =) 15 12,000 80%
10H20H(H) &l =3 15 12,000 80%
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10H21HN) &l =) 15 10,000 84%
10H22H(K) & e 15 10,000 84%
10H23H(XK) &l =) 15 10,000 84%
10H24H(£&) & e 15 12,000 80%
10H25H(%) &l =) 15 12,000 80%
9H1H(H) e &l 16 12,000 80%

9H2H(KX) =) &l 16 10,000 84%

9H3H(K) e &l 16 10,000 84%

9H4H(K) =) &l 16 10,000 84%

OHS5H(&E) e &l 16 12,000 80%

9H6H(X) =) &l 16 12,000 80%

9B7H(H) e &l 16 12,000 80%

9H8H(H) =) &l 16 12,000 80%

9H9H(KX) NS, &l 16 10,000 84%

9H10H(K) =) &l 16 10,000 84%
9H11H(XK) NS &l 16 10,000 84%
9H13H(L) =) &l 16 20,000 67%
9H14H(H) NS, &l 16 19,000 69%
9H16H(X) =) &l 16 10,000 84%
9H17H(K) NS &l 16 10,000 84%
9H18H(K) =) &l 16 10,000 84%
9H19H(&%) NS, &l 16 12,000 80%
9H20H(L) =) &l 16 20,000 67%
9H21H(H) NS &l 16 19,000 69%
9H22H(H) =) &l 16 12,000 80%
9H23H(X) NS, &l 16 20,000 67%
9H24H(K) =) &l 16 10,000 84%
9H25H(XK) =) &l 16 10,000 84%
9OH26H(&) =) &l 16 12,000 80%
9H27H(X) =) &l 16 12,000 80%
9H28H(H) =) &l 16 12,000 80%
9H29H(H) =) &l 16 12,000 80%
9H30H(X) =) &l 16 10,000 84%
10H1H(K) =) &l 16 9,000 85%
10H2H(K) =) &l 16 9,000 85%
10H3H(E) =) &l 16 11,000 82%
10H4H(XL) =) &l 16 11,000 82%
10H5H(H) =) &l 16 11,000 82%
10H6H(AH) =) &l 16 11,000 82%
10H7H(KX) =) &l 16 9,000 85%
10H8H(K) =) ] 16 9,000 85%
10H9H(RK) =) &l 16 9,000 85%
10H11H(X) =) &l 16 20,000 67%
10H12H(H) =) &l 16 19,000 69%
1051480 =) e ] 16 9,000 85%
10H15H0K) =) &l 16 9,000 85%
10H16H(K) =) e ] 16 9,000 85%
10H17H(%&) =) &l 16 11,000 82%
10H18H(%) =) &l 16 11,000 82%
10H19H(H) =) &l 16 11,000 82%
10H20H(H) =) e ] 16 11,000 82%
10H21H(N) =) &l 16 9,000 85%
10H22H(K) e &l 16 9,000 85%
10H23H(K) =) &l 16 9,000 85%
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10H24H(%) W=y @] 16 11,000 82%
10H25H(%) NS, &l 16 11,000 82%
9OH2H(X) f& ] =) 17 11,000 82%
9OH3H(K) &l = 17 11,000 82%
9H4H(K) f& ] =) 17 11,000 82%
9OHS5H(E) &l = 17 13,000 79%
9H6H(L) &l =) 17 13,000 79%
9H8H(AH) &l = 17 13,000 79%
9H9H(X) f& ] =) 17 11,000 82%
9H10H(K) &l = 17 11,000 82%
9H11H(K) f& ] =) 17 11,000 82%
9H16H(XN) &l = 17 11,000 82%
9H17H(K) e ] =) 17 11,000 82%
9H18H(K) &l il= 17 11,000 82%
9H20H(x) &l =) 17 21,000 66%
9H22H(H) &l il= 17 13,000 79%
9H24H(K) & ] =) 17 11,000 82%
9H25H(K) &l il= 17 11,000 82%
9H27H(L) &l =) 17 13,000 79%
9H30H(XN) &l il= 17 11,000 82%
10H1H(K) & ] =) 17 10,000 84%
10H2H(K) &l il= 17 10,000 84%
10H3H(ER) &l =) 17 12,000 80%
10H4H(L) &l il= 17 12,000 80%
10H6H(H) &l =) 17 12,000 80%
10H78HX) &l = 17 10,000 84%
10H8H(K) & =) 17 10,000 84%
10H9H(RK) &l =3 17 10,000 84%
10H14H(CN) & =) 17 10,000 84%
10H16H(K) &l =3 17 10,000 84%
10H17H(:&) &l =) 17 12,000 80%
10H18H(%) &l =3 17 12,000 80%
10H20H(H) & =) 17 12,000 80%
10H21H(N) &l =3 17 10,000 84%
10H22H(K) & =) 17 10,000 84%
10H23H(K) &l =3 17 10,000 84%
10H24H (&) &l =) 17 12,000 80%
9H1H((A) =3 &l 18 12,000 80%
9H2H(X) = ] 18 10,000 84%
9H3H(K) W=y &l 18 10,000 84%
9H4H(XK) W=y il 18 10,000 84%
9HS5H(E) W=y &l 18 12,000 80%
9H6H(L) W=y ] 18 12,000 80%
9H7H(H) W=y &l 18 12,000 80%
9HS8H(H) W=y il 18 12,000 80%
9H9H(X) W=y &l 18 10,000 84%
9H10H(K) W=y il 18 10,000 84%
9H11H(K) W=y &l 18 10,000 84%
9H13H(X) = e ] 18 20,000 67%
9H14H(H) =y &l 18 19,000 69%
9H16H(X) = fE 18 10,000 84%
9H17H(K) =y &l 18 10,000 84%
9H18H(XK) = &l 18 10,000 84%
9OH19H(:&) =y &l 18 12,000 80%
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9H20H(L) =) &l 18 20,000 67%
9H21H(H) e &l 18 19,000 69%
9H22H(H) =) &l 18 12,000 80%
9H23H(X) e &l 18 20,000 67%
9H24H(K) =) &l 18 10,000 84%
9H25H(XK) e &l 18 10,000 84%
9H26H(%&) =) &l 18 12,000 80%
9H27H(X) e &l 18 12,000 80%
9H28H(H) =) &l 18 12,000 80%
9H29H(H) e &l 18 12,000 80%
9H30H(N) =) &l 18 10,000 84%
10H1H(K) e &l 18 9,000 85%
10H2H(K) =) &l 18 9,000 85%
10H3H(%) NS, &l 18 11,000 82%
10H4H(XL) =) &l 18 11,000 82%
10HA5H(H) NS &l 18 11,000 82%
10H6H(H) =) &l 18 11,000 82%
10B7H(CX) NS, &l 18 9,000 85%
10H8H(K) =) &l 18 9,000 85%
10H9H(K) NS &l 18 9,000 85%
10H11H(X) =) &l 18 20,000 67%
10H14H(N) NS, &l 18 9,000 85%
10H15H(0K) =) &l 18 9,000 85%
10H16H(XK) NS &l 18 9,000 85%
10817H(&) =) &l 18 11,000 82%
10H18H(%) NS, &l 18 11,000 82%
10H20H(H) =) &l 18 11,000 82%
10H21H(N) =) &l 18 9,000 85%
10H22H(K) =) &l 18 9,000 85%
10H23H(K) =) &l 18 9,000 85%
10H24H(£) =) &l 18 11,000 82%
10H25H(%) =) &l 18 11,000 82%
9H2H(N) &l file 19 11,000 82%

9H3H(K) &l =) 19 11,000 82%

9H4H(K) &l file 19 11,000 82%

9H6H(L) &l = 19 13,000 79%

9HS8H(H) &l file 19 13,000 79%

9H9H(KX) &l =) 19 11,000 82%

9H10H(K) &l file 19 11,000 82%
9H11H(XK) &l =) 19 11,000 82%
9H16H(XN) &l =) 19 11,000 82%
9H17H(K) &l =) 19 11,000 82%
9H18H(K) &l =) 19 11,000 82%
9H20H(%) &l =) 19 21,000 66%
9H21H(H) &l =) 19 20,000 67%
9H22H(H) &l =) 19 13,000 79%
9H24H(K) &l =) 19 11,000 82%
9H25H(XK) &l =) 19 11,000 82%
9OH26H(&) &l =) 19 13,000 79%
9H27H(X) &l =) 19 13,000 79%
9H29H(H) &l = 19 13,000 79%
9H30H(N) &l =) 19 11,000 82%
10H1H(K) & =) 19 10,000 84%
10H2H(K) &l =) 19 10,000 84%
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1083H(®) & s 19 12,000 80%
10848 (1) Pl s 19 12,000 80%
1086H(B) el s 19 12,000 80%
10878(X) Pl s 19 10,000 84%
1088H(K) el s 19 10,000 84%
1059H (K) Pl s 19 10,000 84%
108118 (L) el s 19 21,000 66%
105148 (N) Pl s 19 10,000 84%
108158 (K) el s 19 10,000 84%
108168 (k) Pl s 19 10,000 84%
108178(®) el s 19 12,000 80%
10518H (%) Pl s 19 12,000 80%
10H208(A) el s 19 12,000 80%
108218 (N) & s 19 10,000 84%
108228 (K) el s 19 10,000 84%
108238 (k) & s 19 10,000 84%
10H248(&) el s 19 12,000 80%
9H22H(B) = &E 20 8,500 78%
9H298(A) s &R 20 9,500 76%
9H30H(N) = ZhE 20 8,500 78%
10818 (K) s &R 20 8,000 80%
1082H(K) = ZhE 20 8,500 78%
1086H(A) s &R 20 8,500 78%
1088H(K) s &= 20 8,500 78%
108168 (K) s &R 20 9,500 76%
108208 (A) = &E 20 8,500 78%
10H218(X) s &R 20 9,500 76%
108228 (k) s &E 20 8,500 78%
10H248(%) s &R 20 9,500 76%
9F28(N) &= s 21 8,500 78%
98108 (K) &HE s 21 8,500 78%
9F11H(X) ZhE s 21 9,500 76%
9A14H(H) &HE s 21 8,000 80%
98 17H(K) HhE = 21 8,500 78%
9H18H(X) &HE s 21 9,500 76%
9H23H(X) &HE s 21 9,500 76%
9H25H(X) &HE s 21 8,500 78%
9H26H (%) &HE s 21 7,000 82%
9H830H () &HE s 21 6,000 85%
10818 (K) &= s 21 8,500 78%
1082H(K) &HE s 21 8,500 78%
10838(%) &= s 21 9,500 76%
1085H(H) &HE s 21 8,500 78%
10878(X) &= s 21 8,000 80%
1088H(K) &HE s 21 6,000 85%
10859H(K) ZhE s 21 6,000 85%
108 16H(X) &HE s 21 8,500 78%
108218 (N) &= s 21 8,500 78%
108228 (K) &HE s 21 7,000 82%
108238 (K) ZhE s 21 8,500 78%
10H248(®) &HE s 21 6,000 85%
9B5H(%) s &R 22 8,500 78%
986H(1) s &= 22 8,500 78%
988H(A) s &R 22 9,500 76%
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9H19H ()
9H22H(B) Mﬁ — o=
98258 (& e = z - |
: ) MA 2 23|=%
. D - 22 9,500
. - 5 : 76%
1H(K) : z =
108 e = : .
- D - 22 500
- - = 8 78%
66H(B) = 2 -
10878H(N = o= 2 o -
108 ) i=) e 7 =
SH(K) = z -
108 s = ; -
9H(K) 5 : 2 5
. - 5 2 76%
14H(N) : z .
108158 (K = o= : T -
. ) s sn 2 8 80%
22H(0K) = z 2 2 0
108238 (A& =) =2 = 500 -
938 (K ) wa - : so00 .
98 ) 2R ST 2 8 -
o 5o {mz 22 7,000 30%
9H25H(K) BhE ﬂui > s -
o o {mz 23 8,500 30%
10A28(K) BEfE {IJ_IJ‘D“ > st -
10888 (k) BEfE ﬂui > s -
108158 (K) BEE ﬂui > c -
10A16H(K) BEfE ﬂui > c -
10A2280K) BEfE ﬂui > s -
10823H(XK) g 2Y=s] ﬂui > s -
10A248(2) BEfE nui > ci -
9H2H(N) “hE ﬂJ.IE > s -
9838 (K) le g.; > i -
988H(A) e 2 = 2 5500 -
9ﬁ - i5 . 82%
17H(OK) = : 2 2 O
98 = = 8 .
19H (&) 5 : 2 2 0
: 4 s : 78%
258 (K) 5 : 7 -
98 = = 8 .
30H(N) = : 24 2 0
. - 55 : 78%
= s 20 > ,500 0
- m: : = i 7,000 76%
10848(* =) = : s -
108 ) =) = 4 6 .
= = : > ,000 0
108 e = 8 .
9H (k) 5 : z -
i m L 2 9,500 78%
- | T2 e 4 8 76%
11H(%) = : 2 = O
108 = = 7 .
h s : < ,000 0
108158 (K = =2 > o -
108 ) s = 8 -
i s : < ,500 ()
10 = = 78%
e ; = 8,000 0
108 ) (= e =
e s : < 7,000 0
9H9H (N = = : 500 -
10 ) LR B 4 -
H2H(K) = M= = st 0
1086H(A) BEE ﬂhi 2 s -
o o 2 25 9,500 76%
108 . iz -
11H(X) = = - s O
o mli = 4500 76%
: 25 9,500 e
2.500 76%
76%
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10H258(%) &HE s 25 9,500 76%
9H2H(N) = L5 39 11,100 79%

9A11H(X) s N 39 11,100 79%
9H178(K) s LE 39 11,100 79%
98188 (k) s N 39 11,100 79%
9H22H(B) s = 39 11,600 78%
98238 (X) s N 39 11,100 79%
9H29H(B) s = 39 11,100 79%
9H30H(A) s N 39 10,100 81%
108518 (K) s LE 39 8,100 85%
10828 (X) s N 39 9,100 83%
10878(X) s LE 39 9,100 83%
10859H(K) s N 39 10,100 81%
108158 (7K) s = 39 10,100 81%
108198(8) s LE 39 9,100 83%
108208 (A) s = 39 9,100 83%
108218 (N) s LE 39 10,100 81%
108228 (k) = = 39 9,100 83%
108238 (k) s LE 39 8,100 85%
10H248(2) s = 39 9,100 83%
10H258(%) s LE 39 9,100 83%
9H3H (k) LB s 40 10,100 81%

9848 (X) LB s 40 11,100 79%

9H6H (1) LB s 40 11,600 78%

9A78(H) LB s 40 11,100 79%

9H8H(A) LB s 40 11,100 79%

989H(N) LB s 40 11,600 78%

9810H(K) LB s 40 10,100 81%
9816H(N) LB s 40 11,100 79%
9817H(K) LB s 40 10,100 81%
9H18H(X) LB s 40 11,600 78%
9H821H(H) LB s 40 11,100 79%
9H228(A) LB s 40 11,600 78%
9823H(X) LB s 40 10,100 81%
9H25H(X) LB s 40 11,100 79%
9H26H (%) LB s 40 11,100 79%
9A278(1) LB s 40 11,100 79%
9H28H(H) LB s 40 11,100 79%
9H829H(B) LB s 40 11,100 79%
9830H(A) LB s 40 11,100 79%
10818 (K) LB s 40 10,100 81%
10828 (X) LB s 40 9,100 83%
1083H(®) LB s 40 11,600 78%
1085H(H) LB s 40 11,100 79%
1086H(A) LB s 40 9,100 83%
1088H(K) LB s 40 9,100 83%
10898 (X) LB s 40 10,100 81%
105108(2) LB s 40 11,100 79%
108 128(8) LB s 40 11,600 78%
108158 (K) LB s 40 9,100 83%
108178(®) LB s 40 9,100 83%
108208 (A) LB s 40 11,100 79%
10H218(N) LB s 40 11,100 79%
108228 (K) LB s 40 11,100 79%
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10H23H(K) NS =) 40 11,100 79%
10H25H(%) INZ; = 40 10,100 81%
9OH2H(X) W=y INS; 41 11,100 79%

9OH3H(K) NS, NS 41 11,100 79%

9H4H(K) W=y INS; 41 11,100 79%

9H6H(L) NS, NS 41 10,100 81%

9H7H(H) W=y INS; 41 11,600 78%

9OH9H(X) NS, NS 41 10,100 81%

9H10H(K) W=y INS; 41 10,100 81%
9H11H(XK) NS, NS 41 10,100 81%
9H14H(H) W=y INS; 41 11,600 78%
9H16H(N) NS, NS 41 11,600 78%
9H17H(K) W= INS; 41 10,100 81%
9H18H(XK) =3 L5 41 10,100 81%
9H21H(H) =y L5 41 11,600 78%
9H22H(H) =y L5 41 10,100 81%
9H23H(N) =y L5 41 11,600 78%
9H24H(K) =y L5 41 10,100 81%
9H25H(K) =y L5 41 10,100 81%
9H27H(X) NS L5 41 10,100 81%
9H28H(H) =y L5 41 11,100 79%
9H29H(H) =y L5 41 10,100 81%
9H30H(N) =y L5 41 10,100 81%
10H1H(K) = L5 41 8,100 85%
10H2H(K) =y L5 41 9,100 83%
10H3H(E) NS, L5 41 9,100 83%
10HA5H((H) = L5 41 11,600 78%
1086H(H) =3 L5 41 9,100 83%
10H7H(X) = L5 41 10,100 81%
10H8H(K) =3 L5 41 8,100 85%
10H11H(X) = L5 41 11,600 78%
10H12H(H) =3 L5 41 8,100 85%
10H14H(CN) = L5 41 9,100 83%
10H15H(K) =3 L5 41 7,350 86%
10H16H(K) = L5 41 9,100 83%
10H18H(%) =) L5 41 10,100 81%
10H19H(H) =y L5 41 10,100 81%
10H20H(A) =3 L5 41 9,100 83%
10H21H(CN) = L5 41 10,100 81%
10H22H(K) W=y IN=; 41 7,350 86%
10H23H(XK) W=y L5 41 9,100 83%
10H24H(%&) W=y IN=; 41 9,100 83%
10H25H(%) W=y IN=] 41 8,100 85%
9H2H(X) /NS =) 42 10,100 81%

9H6H(L) L5 =) 42 10,100 81%

9H9H(X) /NS =) 42 11,100 79%

9H10H(K) L5 (= 42 11,600 78%
9H11H(XK) /NS =) 42 11,100 79%
9H17H(K) L5 (= 42 10,100 81%
9H18H(K) NS =) 42 10,100 81%
9H24H(K) L5 (= 42 11,100 79%
9H25H(K) NS =) 42 11,100 79%
9H26H(&) L5 =) 42 11,100 79%
9H27H(L) INZ] =) 42 11,600 78%
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9H28H(H) NS =) 42 11,100 79%
9H29H(H) INZ; = 42 11,100 79%
9H30H(XN) NS =) 42 10,100 81%
10H1H(K) L5 = 42 7,350 86%
10H2H(K) NS =) 42 9,100 83%
10H4H(L) L5 = 42 9,100 83%
1085H(H) NS =) 42 11,100 79%
10H8H(K) INZ; = 42 9,100 83%
10H9H(RK) L5 =) 42 10,100 81%
10H10H(%&) INZ; = 42 11,600 78%
10H11H(X) NS =) 42 11,600 78%
10H12H(H) L5 = 42 11,100 79%
10H15H(K) L5 =) 42 10,100 81%
10H16H(XK) /NS = 42 10,100 81%
10H17H(&) L5 =) 42 11,600 78%
10H18H(X) /NS = 42 10,100 81%
10H21H(AN) INZ] =) 42 10,100 81%
10H22H(K) /NS = 42 9,100 83%
10H23H(K) L5 =) 42 10,100 81%
10H24H(%&) /NS = 42 8,100 85%
10H25H(%) INZ] =) 42 10,100 81%
9H1H((A) =y L5 43 11,600 78%

9H2H(X) =y L5 43 11,100 79%

9H3H(K) = L5 43 10,100 81%

9HS5H(E) =y L5 43 11,600 78%

9H6H(L) NS, L5 43 11,600 78%

9H9H(X) = L5 43 10,100 81%

9H10H(K) =3 L5 43 10,100 81%
9H11H(XK) = L5 43 11,600 78%
9H13H(%) =) L5 43 11,600 78%
9H14H(H) = L5 43 11,100 79%
9H16H(X) =3 L5 43 11,600 78%
9H17H(K) = L5 43 11,100 79%
9H18H(XK) =3 L5 43 11,600 78%
9H20H(X) = L5 43 11,600 78%
9H21H(H) =3 L5 43 11,100 79%
9H25H(XK) =y L5 43 9,100 83%
9H26H(%&) =) L5 43 11,600 78%
9H27H(X) = L5 43 11,100 79%
9H28H(H) W=y IN=; 43 11,100 79%
9H29H(H) W=y L5 43 11,100 79%
9H30H(XN) W=y IN=; 43 10,100 81%
10H1H(K) W=y L5 43 7,350 86%
10H2H(K) W=y IN=; 43 11,100 79%
10H4H(L) W=y IN=] 43 9,100 83%
1086H(H) W=y IN=; 43 11,600 78%
10H7H(XN) W=y L5 43 8,100 85%
10H8H(K) W=y IN=; 43 9,100 83%
10H9H(RK) = IN=; 43 11,100 79%
10H10H(%&) =y IN=; 43 11,600 78%
10H12H(H) = L5 43 11,100 79%
10H14H(N) =y IN=; 43 9,100 83%
10H15H(K) = IN=] 43 10,100 81%
10H16H(K) =y IN=; 43 9,100 83%
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10H17H(%&) W=y INS; 43 11,600 78%
10H18H(X) NS, NS 43 9,100 83%
10H21H(N) W=y INS; 43 9,100 83%
10H22H(K) NS, NS 43 7,350 86%
10H23H(K) W=y INS; 43 10,100 81%
10H24H(%&) NS, NS 43 11,600 78%
9H1H(A) NS =) 44 11,600 78%
9OH2B(X) INZ; = 44 10,100 81%
9H3H(K) L5 =) 44 11,100 79%
9H6H(L) INZ; = 44 11,100 79%
9H8H(AH) NS =) 44 11,100 79%
9OH9H(X) L5 = 44 11,100 79%
9H10H(K) L5 =) 44 11,600 78%
9H14H(H) /NS il= 44 11,100 79%
9H16H(N) L5 =) 44 10,100 81%
9H17H(K) /NS = 44 10,100 81%
9H24H(K) INZ] =) 44 9,100 83%
9H25H(K) /NS il= 44 11,100 79%
9H26H(:&) L5 =) 44 11,600 78%
9H28H(H) /NS = 44 11,600 78%
9H29H(H) INZ] =) 44 11,600 78%
9H30H(N) /NS il= 44 11,100 79%
10H1H(K) L5 =) 44 9,100 83%
10H2H(K) /NS = 44 11,600 78%
10H3H(ER) L5 =) 44 11,100 79%
10H78HX) /NS = 44 9,100 83%
10H8H(K) NS =) 44 9,100 83%
10H9H(RK) /NS = 44 10,100 81%
105108 (&) NS =) 44 10,100 81%
10H11H(X) /NS = 44 9,100 83%
10H14H(CN) NS =) 44 11,600 78%
10H15H(K) /NS = 44 10,100 81%
10H16H(K) NS =) 44 9,100 83%
10H18H(%) /NS = 44 11,600 78%
108520H(H) NS =) 44 10,100 81%
10H21H(N) /NS = 44 7,350 86%
10H22H(K) NS =) 44 8,100 85%
10H23H(K) /NS = 44 9,100 83%
10H24H (&) NS =) 44 11,100 79%
10H25H(%) /NS =) 44 9,100 83%
9H1H(H) W=y ALIR 45 8,000 80%
9H3H(K) W=y ALIR 45 6,000 85%
9H4H(XK) W=y ALIR 45 6,000 85%
9H7H(H) W=y ALIR 45 8,000 80%
9HS8H(H) W=y ALIR 45 8,000 80%
9H9H(N) (= AL 45 6,000 85%
9H10H(K) W=y ALIR 45 6,000 85%
9H11H(K) W=y ALIR 45 6,000 85%
9H12H(&) = ALIR 45 8,000 80%
9H14H(H) =y ALIR 45 10,000 75%
9H15H(H) = ALIR 45 15,000 62%
9H16H(X) =y ALIR 45 6,000 85%
9H17H(K) = ALIR 45 6,000 85%
9H18H(K) =y ALIR 45 6,000 85%
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9H19H(:&) W=y ALIR 45 8,000 80%
9H21H((H) NS, ALIR 45 14,000 64%
9H22H(H) W=y ALIR 45 8,000 80%
9H23H(XN) NS, ALIR 45 15,000 62%
9H24H(K) (= ALIR 45 6,000 85%
9H25H(K) NS, ALIR 45 6,000 85%
9H26H(:&) W=y ALIR 45 8,000 80%
9H28H(H) NS, ALIR 45 8,000 80%
9H29H(H) W=y ALIR 45 8,000 80%
9H30H(XN) NS, ALIR 45 6,000 85%
10H1H(K) W=y ALIR 45 5,000 87%
10H2H(K) =y ALIR 45 5,000 87%
10H3H(GER) W= ALIR 45 7,000 82%
1085H((H) =3 ALIE 45 7,000 82%
10H6H(H) =y ALIR 45 7,000 82%
10H78HX) =y ALIE 45 5,000 87%
10H8H(K) =y ALIR 45 5,000 87%
10H9H(K) =y ALIE 45 5,000 87%
105108 (&) =y ALIR 45 7,000 82%
10H12H(H) = ALIE 45 14,000 64%
10H13H(AH) =y ALIR 45 15,000 62%
10H14H(N) =y ALIE 45 5,000 87%
10H15H(K) (= ALIR 45 5,000 87%
10H16H(K) = ALIE 45 5,000 87%
10H17H(&) =y ALIR 45 7,000 82%
10H18H(%) =y ALIE 45 7,000 82%
10H19H(H) = ALIR 45 7,000 82%
10H20H((A) =3 ALIR 45 7,000 82%
10H21H(CN) = ALIR 45 5,000 87%
10H22H(K) =3 ALIR 45 5,000 87%
10H23H(K) = ALIR 45 5,000 87%
10H24H(%&) =3 ALIR 45 7,000 82%
10H25H(%) = ALIR 45 7,000 82%
9H1H((A) ALIE =3 46 9,000 77%
9H2H(X) AL =) 46 7,000 82%
9H3H(K) ALIE =3 46 7,000 82%
9H4H(RK) AL =) 46 7,000 82%
9HS5H(E) ALIE =3 46 9,000 77%
9H6H(L) AL =) 46 9,000 77%
9H8H(AH) ALIE =3 46 8,000 80%
9H9H(X) ALIR (= 46 7,000 82%
9H10H(K) ALIE =3 46 7,000 82%
9H11H(K) ALIR (= 46 7,000 82%
9OH12H(%&) ALIE =3 46 9,000 77%
9H14H(H) ALIR =) 46 11,000 72%
9H15H(H) ALIE =3 46 16,000 59%
9H16H(X) ALIR (= 46 7,000 82%
9H17H(K) ALIE =3 46 7,000 82%
9H18H(K) ALIR (= 46 7,000 82%
9OH19H(:E) ALIE =3 46 8,000 80%
9H20H(x) ALIR = 46 16,000 59%
9H21H(H) ALIE =3 46 15,000 62%
9H22H(H) ALIR =) 46 8,000 80%
9H23H(X) ALIR =3 46 16,000 59%
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9H24H(K) AL =) 46 7,000 82%
9H25H(K) ALIR = 46 7,000 82%
9H26H(:&) ALIR e 46 8,000 80%
9H27H(%) ALIR = 46 8,000 80%
9H28H(H) ALIR e 46 8,000 80%
9H29H(A) ALIR = 46 8,000 80%
9H30H(XN) AL =) 46 7,000 82%
10H1H(K) ALIR = 46 5,000 87%
10H2H(K) AL =) 46 5,000 87%
10B3H(%) ALIR = 46 7,000 82%
10H4H(%L) ALIR =) 46 7,000 82%
10H5H(H) ALI = 46 7,000 82%
10H6H(H) ALIR =) 46 7,000 82%
10H7H(CN) AL e 46 5,000 87%
10H8H(K) AL =) 46 5,000 87%
10H9H(K) ALIE il= 46 5,000 87%
105108 (&) ALIR =) 46 7,000 82%
10H11H(X) ALIE il= 46 16,000 59%
10H12H(H) ALIR =) 46 15,000 62%
10H13H(H) ALIE il= 46 16,000 59%
10H14H(CN) AL =) 46 5,000 87%
10H15H(K) ALIE il= 46 5,000 87%
10H16H(K) AL =) 46 5,000 87%
10H17H (&) ALIE il= 46 7,000 82%
10H18H(x) ALIR =) 46 7,000 82%
10H19H(H) ALIE = 46 7,000 82%
108520H(H) AL =) 46 7,000 82%
10H21H(N) ALIE =3 46 5,000 87%
10H22H(K) AL =) 46 5,000 87%
10H23H(K) ALIE =3 46 5,000 87%
10H24H (&) AL =) 46 7,000 82%
10H25H(%) AL (U=} 46 7,000 82%
9B1H(A) = ALIR 47 9,000 77%
9OH2H(X) =3 ALIR 47 7,000 82%
9H3H(K) = ALIR 47 7,000 82%
9H4H(RK) =3 ALIR 47 7,000 82%
987H(H) =y ALIR 47 9,000 77%
9H8H(H) (=} AL 47 9,000 77%
9H9H(X) = ALIR 47 7,000 82%
9H10H(K) W=y ALIR 47 7,000 82%
9H14H(H) W=y ALIR 47 11,000 72%
9H15H(H) W=y ALIR 47 16,000 59%
9H16H(X) W=y ALIR 47 7,000 82%
9H17H(K) W=y ALIR 47 7,000 82%
9H18H(K) W=y ALIR 47 7,000 82%
9H19H(:&) W=y ALIR 47 9,000 77%
9H20H(x) W=y ALIR 47 16,000 59%
9H21H((H) W=y ALIR 47 15,000 62%
9H22H(H) = ALIR 47 9,000 77%
9H23H(XN) =y ALIR 47 16,000 59%
9H24H(K) = ALIR 47 7,000 82%
9H25H(K) =y ALIR 47 7,000 82%
9H26H(&) = ALIR 47 9,000 77%
9H27H(L) =y ALIR 47 9,000 77%
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9H28H(H) W=y ALIR 47 9,000 77%
9H29H(A) NS, ALIR 47 9,000 77%
9H30H(X) W=y ALIR 47 7,000 82%
10H1H(K) NS, ALIR 47 6,000 85%
10H2H(K) (= ALIR 47 6,000 85%
10B3H(%) NS, ALIR 47 8,000 80%
10H4H(%L) W=y ALIR 47 8,000 80%
10HA5H((H) =y ALIR 47 8,000 80%
10H6H(H) W=y ALIR 47 8,000 80%
1087H(X) =y ALIR 47 6,000 85%
10H8H(K) (= ALIR 47 6,000 85%
10H9H(K) =y ALIR 47 6,000 85%
10H10H(&) W= ALIR 47 8,000 80%
10H11H(X) =3 ALIE 47 16,000 59%
10H12H(H) =y ALIR 47 15,000 62%
10H13H((A) =y ALIE 47 16,000 59%
10H14H(CN) (= ALIR 47 6,000 85%
10H15H(K) =y ALIE 47 6,000 85%
10H16H(K) (= ALIR 47 6,000 85%
10H17H (&) = ALIE 47 8,000 80%
10H18H(x) =y ALIR 47 8,000 80%
10H19H(H) =y ALIE 47 8,000 80%
10H20H(AH) =y ALIR 47 8,000 80%
10H218(CN) = ALIE 47 6,000 85%
10H22H(K) (= ALIR 47 6,000 85%
10H23H(K) =y ALIE 47 6,000 85%
10H24H (&) = ALIR 47 8,000 80%
10H25H(%) =3 ALIR 47 8,000 80%
9B1H(A) AL =) 48 8,000 80%
9OH2H(X) ALIE =3 48 6,000 85%
9H3H(K) AL =) 48 6,000 85%
9H4H(RK) ALIE =3 48 6,000 85%
9OHS5H(E) AL =) 48 8,000 80%
9H6H(L) ALIE =3 48 8,000 80%
9H8H(A) AL =) 48 8,000 80%
9H9H(X) ALIE =3 48 6,000 85%
9H10H(K) AL =y 48 6,000 85%
9H11H(K) ALIE =3 48 6,000 85%
9H12H(:&) AL =) 48 8,000 80%
9H13H(%) ALIE =3 48 15,000 62%
9H14H(H) ALIR =) 48 10,000 75%
9H16H(X) ALIE =3 48 6,000 85%
9H17H(K) ALIR (= 48 6,000 85%
9H18H(K) ALIE =3 48 6,000 85%
9H19H(&) ALIR =) 48 9,000 77%
9H20H(x) ALIE =3 48 15,000 62%
9H21H(H) ALIR =) 48 14,000 64%
9H22H(H) ALIE =3 48 9,000 77%
9H24H(K) ALIR (= 48 6,000 85%
9H25H(K) ALIE =3 48 6,000 85%
9H26H(&) ALIR = 48 9,000 77%
9H27H(X) ALIE =3 48 9,000 77%
9H29H(H) ALIR =) 48 9,000 77%
9H30H(XN) ALIR =3 48 6,000 85%
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10H1H(K) AL e 48 6,000 85%
10H2H(K) ALI = 48 6,000 85%
10H3H(GER) ALIR e 48 8,000 80%
10H4H(L) ALIR = 48 8,000 80%
1085H(H) ALIR e 48 8,000 80%
10H6H(A) ALI = 48 8,000 80%
10H7H(X) AL e 48 6,000 85%
10H8H(K) ALIR = 48 6,000 85%
10H9H(RK) AL e 48 6,000 85%
10810HGE) ALI = 48 8,000 80%
10H11H(X) ALIR =) 48 15,000 62%
10H12H(H) ALI = 48 14,000 64%
10H148(XN) AL e 48 6,000 85%
10H15H(K) ALIR il= 48 6,000 85%
10H16H(K) AL =) 48 6,000 85%
10H17H (&) ALIE il= 48 8,000 80%
10H18H(x) ALIR =) 48 8,000 80%
10H19H(H) ALIE il= 48 8,000 80%
10H20H(AH) ALIR =) 48 8,000 80%
10H218(CN) ALIE il= 48 6,000 85%
10H22H(K) AL =) 48 6,000 85%
10H23H(K) ALIE il= 48 6,000 85%
10H24H (&) ALIR =) 48 8,000 80%
10H25H(%) ALIE il= 48 8,000 80%
9B1H(A) =y ALIR 49 8,000 80%
9OH2B(X) =y ALIE 49 6,000 85%
9H3H(K) (= ALIR 49 6,000 85%
9H6H(L) =3 ALIR 49 8,000 80%
987H(H) = ALIR 49 8,000 80%
9H8H(AH) =3 ALIR 49 8,000 80%
9H9H(X) (= ALIR 49 6,000 85%
9H10H(K) =3 ALIR 49 6,000 85%
9H11H(XK) = ALIR 49 6,000 85%
9OH12H(%&) =3 ALIR 49 8,000 80%
9H13H(%) = ALIR 49 15,000 62%
9H14H(H) =3 ALIR 49 10,000 75%
9H15H(H) (= ALIR 49 15,000 62%
9H16H(X) =3 ALIR 49 6,000 85%
9H17H(K) (= ALIR 49 6,000 85%
9H18H(K) W=y ALIR 49 6,000 85%
9H20H(x) W=y ALIR 49 15,000 62%
9H21H((H) W=y ALIR 49 14,000 64%
9H22H(H) W=y ALIR 49 8,000 80%
9H23H(X) W=y ALIR 49 15,000 62%
9H24H(K) W=y ALIR 49 6,000 85%
9H25H(K) W=y ALIR 49 6,000 85%
9H26H(:&) W=y ALIR 49 8,000 80%
9H27H(L) W=y ALIR 49 8,000 80%
9H28H(H) = ALIR 49 8,000 80%
9H29H(H) =y ALIR 49 8,000 80%
9H30H(N) = ALIR 49 6,000 85%
10H1H(K) =y ALIR 49 5,000 87%
10H2H(K) = ALIR 49 5,000 87%
10H3H(ER) =y ALIR 49 7,000 82%
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10H4H(LX) =) ALIR 49 7,000 82%
10H5H(H) e ALMR 49 7,000 82%
10H6H(AH) =) ALIR 49 7,000 82%
10H7H(CXN) e ALMR 49 5,000 87%
10H8H(K) =) ALIR 49 5,000 87%
10H98(K) fils A% 49 5,000 87%
10H10H(%) =) ALIR 49 7,000 82%
10H11H(X) e ALMR 49 15,000 62%
10H12H(H) =) ALIR 49 14,000 64%
10H13H(H) e ALMR 49 15,000 62%
10H14HN) =) ALIR 49 5,000 87%
10H15H0K) e ALMR 49 5,000 87%
10H16H(K) =) ALIR 49 5,000 87%
10H17H(%®) NS, ALIR 49 7,000 82%
10H18H(%) =) ALIR 49 7,000 82%
10H19H(H) NS ALIR 49 7,000 82%
10H20H(H) =) ALIR 49 7,000 82%
10A21E8(X) e ALI% 49 5,000 87%
10H22H(K) =) ALIR 49 5,000 87%
10H23H(XK) NS ALIR 49 5,000 87%
10824H(&) =) ALIR 49 7,000 82%
10H25H(%) NS, ALIR 49 7,000 82%
9H1H(H) ALIR =) 50 9,000 77%

9H2H(KX) ALIR =) 50 7,000 82%

9H3H(K) ALIR =) 50 7,000 82%

9H4H(K) ALIE =) 50 7,000 82%

9OHS5H(%E) ALIR =) 50 9,000 77%

9H6H(L) ALIR = 50 9,000 77%

9HS8H(H) ALIR =) 50 9,000 77%

9R9E () LR e 50 7,000 82%

9H10H(K) ALIR =) 50 7,000 82%
9H11H(XK) ALIR = 50 7,000 82%
9H13H(L) ALIR =) 50 16,000 59%
9H14H(H) ALIR = 50 11,000 72%
9H16H(X) ALIR =) 50 7,000 82%
9H18H(XK) ALIR = 50 7,000 82%
9H20H(%) ALIR =) 50 16,000 59%
9H21H(H) ALIR = 50 15,000 62%
9H22H(H) ALIR =) 50 9,000 77%
9H24H(K) ALIR =) 50 7,000 82%
9H25H(K) ALIR =) 50 7,000 82%
9H26H(%&) ALIR =) 50 9,000 77%
9H27H(L) ALIR =) 50 9,000 77%
9H29H(H) ALIR =) 50 9,000 77%
9H30H(XN) ALIR =) 50 7,000 82%
10H1H(K) ALIR =) 50 6,000 85%
10H2H(K) ALIR =) 50 6,000 85%
10H3H(E) ALIR =) 50 8,000 80%
10H4H(XL) ALIR = 50 8,000 80%
10H5H(H) ALIR =) 50 8,000 80%
10H6H(H) ALIR = 50 8,000 80%
10H7H(KX) ALIR =) 50 6,000 85%
10H8H(K) ALIR =) 50 6,000 85%
10H9H(K) ALIR =) 50 6,000 85%
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10H11H(X) ALIR e 50 16,000 59%
10H12H(H) ALIR = 50 15,000 62%
10H13H(H) ALIR e 50 16,000 59%
10H148(CN) ALIR = 50 6,000 85%
10H15H(K) AL e 50 6,000 85%
10H16H(K) ALIR = 50 6,000 85%
10H17H(%) ALIR e 50 8,000 80%
10H18H(*L) ALIR = 50 8,000 80%
10H19H(H) ALIR e 50 8,000 80%
10H20H(H) ALIR = 50 8,000 80%
10H218(XN) ALIR e 50 6,000 85%
10H22H(K) ALIR = 50 6,000 85%
10H23H(K) ALIR e 50 6,000 85%
10H24H(%&) ALIR il= 50 8,000 80%
10H25H(%) ALIR =) 50 8,000 80%
9H1H((A) AN il= 51 8,500 80%
9H2H(X) AN =) 51 8,500 80%
9H3H(K) AN il= 51 8,500 80%
9H4H(RK) AN =) 51 8,500 80%
9HS5H(E) AN il= 51 9,500 78%
9H6H(L) AN =) 51 10,500 76%
9H7H(H) AN il= 51 10,500 76%
9H8H(A) AN =) 51 8,500 80%
9H9H(X) AN il= 51 8,500 80%
9H10H(K) AN =) 51 7,500 83%
9H17H(K) AN = 51 7,500 83%
9H18H(XK) ABR =) 51 7,500 83%
9H24H(K) AN =3 51 8,500 80%
9H25H(K) ABR =) 51 8,500 80%
9H26H(E) AN =3 51 8,500 80%
9H27H(X) ABR =) 51 8,500 80%
10H1H(K) AN =3 51 7,500 83%
10H2H(K) ABR =) 51 7,500 83%
10H4H(L) AN =3 51 8,500 80%
10H8H(K) ABR =) 51 8,500 80%
10H9H(RK) AN =3 51 8,500 80%
10812H(H) ABR =y 51 9,500 78%
10H15H(K) AN =3 51 8,500 80%
10H16H(K) ABR =) 51 8,500 80%
10H20H(H) AN =3 51 8,500 80%
10H21H(N) ABR (= 51 7,500 83%
10H22H(K) AN =3 51 7,500 83%
10H23H(K) ABR (= 51 7,500 83%
10H24H(%&) AN =3 51 8,500 80%
10H25H(%) ABR (= 51 8,500 80%
9H2H(X) W=y AP 52 8,500 80%
9OHS5H(E) W=y N 52 9,500 78%
9H8H(AH) W=y AP 52 8,500 80%
9H10H(K) = N 52 8,500 80%
9H17H(K) =y KB 52 8,500 80%
9H22H(H) = N 52 8,500 80%
9H23H(XN) =y KB 52 9,500 78%
9H28H(H) =y KB 52 8,500 80%
9H29H(H) =y AP 52 8,500 80%
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9H30H(XN) W=y AP 52 8,500 80%
10H1H(K) =y AN 52 8,500 80%
10H2H(K) W=y AP 52 9,500 78%
10B3H(%) =y AN 52 9,500 78%
1085H(H) W=y AP 52 10,500 76%
1086H(H) =y N 52 9,500 78%
10H7H(X) W=y AP 52 8,500 80%
10H8H(K) =y AN 52 8,500 80%
10H9H(RK) W=y AP 52 8,500 80%
10H15H(K) =y AN 52 7,500 83%
10H16H(K) W=y AP 52 7,500 83%
10H218(CN) =y N 52 7,500 83%
10H22H(K) W= AP 52 8,500 80%
10H23H(K) =3 AN 52 7,500 83%
10H24H(£) =y AP 52 8,500 80%
9OH2B(X) AN il= 53 7,500 83%
9H3H(K) AN =) 53 8,500 80%
9H10H(K) AN il= 53 8,500 80%
9H16H(N) AN =) 53 9,500 78%
9H17H(K) AN il= 53 8,500 80%
9H18H(XK) AN =) 53 8,500 80%
9H25H(K) AN il= 53 7,500 83%
9H30H(N) AN =) 53 7,500 83%
10H1H(K) AN il= 53 8,500 80%
10H3H(ER) AN =) 53 8,500 80%
1086H(H) AN = 53 9,500 78%
10H7H(X) ABR =) 53 8,500 80%
10H8H(K) AN =3 53 8,500 80%
10H9H(RK) ABR =) 53 8,500 80%
10H108H(E) AN =3 53 9,500 78%
10H15H(K) ABR =) 53 8,500 80%
10H16H(K) AN =3 53 7,500 83%
10H17H(:&) ABR =) 53 9,500 78%
10H18H(%L) AN =3 53 8,500 80%
108520H(H) ABR =) 53 8,500 80%
10H21H(N) AN =3 53 7,500 83%
10H22H(K) ABR =y 53 7,500 83%
10H23H(K) AN =3 53 8,500 80%
10H25H(%) ABR =) 53 8,500 80%
9H1H((A) W=y AP 54 8,500 80%
9H6H(L) W=y N 54 9,500 78%
9H8H(AH) W=y AP 54 9,500 78%
9H9H(X) W=y N 54 9,500 78%
9H10H(K) W=y AP 54 8,500 80%
9H16H(X) W=y N 54 9,500 78%
9H17H(K) W=y AP 54 8,500 80%
9H18H(K) W=y N 54 9,500 78%
9H22H(H) W=y AP 54 9,500 78%
9H24H(K) = N 54 8,500 80%
9H25H(K) =y KB 54 7,500 83%
9H27H(X) = ABR 54 8,500 80%
9H29H(H) =y KB 54 8,500 80%
9H30H(N) =y KB 54 8,500 80%
10H1H(K) =y AP 54 7,500 83%
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10H2H(K) W=y AP 54 8,500 80%
10B3H(%) NS, AN 54 9,500 78%
10H4H(XL) W=y AP 54 9,500 78%
1086H(H) =y AN 54 8,500 80%
10H7H(X) W=y AP 54 7,500 83%
10H8H(K) =y N 54 7,500 83%
10H9H(XK) W=y AP 54 8,500 80%
10H12H(H) =y AN 54 10,500 76%
10H14H(N) W=y AP 54 7,500 83%
10H15H(K) =y AN 54 7,500 83%
10H16H(K) W=y AP 54 8,500 80%
10H21H(CN) =y N 54 7,500 83%
10H22H(K) W= AP 54 7,500 83%
10H23H(K) =3 AN 54 9,500 78%
10H24H(£) =y AP 54 9,500 78%
9OH2B(X) AN fa ] 55 7,540 75%
9H3H(K) AN @] 55 6,540 78%
9H4H(RK) AN e ] 55 7,540 75%
9H6H(L) AN @] 55 7,540 75%
9H8H(AH) AN &l 55 6,540 78%
9H9H(X) AN @] 55 6,540 78%
9H10H(K) AN e ] 55 7,540 75%
9H11H(K) AN @] 55 6,540 78%
9H18H(K) AN &l 55 6,540 78%
9OH19H (&) AN @] 55 6,540 78%
9H24H(K) AN &l 55 6,540 78%
9H25H(XK) ABR ] 55 6,540 78%
9H27H(X) AN &l 55 7,540 75%
9H28H(H) ABR ] 55 7,540 75%
9H29H(H) AN &[] 55 5,540 82%
9H30H(N) ABR ] 55 6,540 78%
10H1H(K) AN &l 55 6,040 80%
10H2H(K) ABR ] 55 6,040 80%
10H3H(GE) AN &l 55 6,540 78%
10H6H(H) ABR ] 55 6,540 78%
10H7H(X) AN &l 55 6,040 80%
10H8H(K) ABR ] 55 6,040 80%
10H9H(RK) AN &[] 55 5,540 82%
105108 (&) ABR ] 55 6,540 78%
10A11H(%) AN &l 55 6,540 78%
10H12H(H) ABR il 55 6,540 78%
10H14H(N) AN &l 55 6,540 78%
10H15H(0K) ABR il 55 6,040 80%
10H16H(K) AN @] 55 6,040 80%
10H17H(%&) ABR il 55 6,540 78%
10H18H(%) AN &l 55 5,540 82%
10H19H(H) ABR il 55 5,540 82%
10H20H(H) AN &l 55 6,540 78%
10H22H(K) ABR fE 55 6,040 80%
10H23H(K) AN &[] 55 6,040 80%
10H24H (&) ABR fE 55 6,540 78%
10H25H(%) AN &l 55 6,540 78%
9H2H(X) &l KB 56 6,540 78%
9H3H(K) &l AP 56 6,540 78%
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9H4H(K) &l AP 56 6,540 78%
9OH6H(TL) &l AN 56 7,540 75%
9H9H(X) &l AP 56 6,540 78%
9H10H(K) &l AN 56 6,540 78%
9H11H(K) &l AP 56 7,540 75%
9OH12H(&) &l N 56 6,540 78%
9H16H(X) &l AP 56 7,540 75%
9H17H(K) &l AN 56 6,540 78%
9H18H(K) &l AP 56 6,540 78%
9H25H(XK) &l AN 56 6,540 78%
9H28H(H) &l AP 56 7,540 75%
9H29H(H) &l N 56 7,540 75%
9H30H(XN) &l AP 56 6,540 78%
10H1H(K) &l AN 56 6,040 80%
10H3H(ER) &l AP 56 6,540 78%
1085H((H) &l AN 56 6,540 78%
10H6H(H) &l AP 56 6,540 78%
10H78HX) &l KB 56 6,040 80%
10H8H(K) & ] AP 56 6,040 80%
10H9H(K) &l AN 56 6,040 80%
105108 (&) &l AP 56 6,540 78%
10H12H(H) &l KB 56 6,540 78%
10H14H(CN) & ] AP 56 6,540 78%
10H15H(K) &l AN 56 6,040 80%
10H16H(K) & ] AP 56 6,040 80%
10H17H (&) &l KB 56 6,540 78%
10H18H(X) &l ABR 56 6,540 78%
10H19H(H) &l AP 56 6,540 78%
108520H(H) & ABR 56 6,540 78%
10H21H(N) &l AP 56 6,040 80%
10H22H(K) & ABR 56 5,540 82%
10H23H(K) &l AP 56 6,040 80%
10H24H (&) &l ABR 56 6,540 78%
9H1H((A) 2EE &[] 59 6,700 81%
9H2H(X) ZaE ] 59 6,440 82%
9H3H(K) 2EE &l 59 5,700 84%
9H4H(RK) ZaE ] 59 5,700 84%
9HS5H(E) 2EE &l 59 6,700 81%
987H(H) ZaE ] 59 6,700 81%
9H8H(AH) “aE &l 59 6,700 81%
9H9H(X) ZaE ] 59 5,700 84%
9H10H(K) “aE &l 59 5,700 84%
9H11H(XK) ZaE ] 59 5,700 84%
9OH12H(%&) “aE @] 59 6,700 81%
9H14H(H) ZaE e ] 59 6,700 81%
9H16H(X) “aE @] 59 6,440 82%
9H17H(K) ZaE e ] 59 6,440 82%
9H18H(K) “aE @] 59 5,700 84%
9H21H(H) ZaE e ] 59 7,440 79%
9H22H(H) ZaE &[] 59 7,440 79%
9H23H(N) ZaE e ] 59 7,440 79%
9H24H(K) ZaE &l 59 5,700 84%
9H25H(XK) ZhE &l 59 5,700 84%
9H26H(:E) ZaE @] 59 7,440 79%
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9H27H(L) ZaE @] 59 6,700 81%
9H28H(H) ZhE &l 59 6,700 81%
9H29H(H) ZaE @] 59 6,700 81%
9H30H(X) ZhE &l 59 5,700 84%
10H1H(K) ZaE @] 59 6,440 82%
10H2H(K) ZhE &l 59 6,440 82%
10H3H(ER) ZaE @] 59 7,440 79%
10H4H(L) ZhE &l 59 6,700 81%
1085H((H) ZaE @] 59 6,700 81%
10H6H(AH) ZhE &l 59 6,700 81%
10H7H(X) ZaE @] 59 5,700 84%
10H8H(K) ZhE &l 59 5,700 84%
10H9H(K) ZaE @] 59 5,700 84%
10H12H(H) 2EE &l 59 5,700 84%
10H14H(CN) ZaE @] 59 6,440 82%
10H15H(K) 2EE &l 59 6,440 82%
10H16H(K) ZaE @] 59 6,440 82%
10H17H (&) 2EE &l 59 6,700 81%
10H19H(H) ZaE @] 59 6,700 81%
10H20H(H) 2EE &l 59 6,700 81%
10H21H(CN) ZaE @] 59 5,700 84%
10H22H(K) 2EE &l 59 5,700 84%
10H23H(K) ZaE @] 59 6,440 82%
10H25H(%) 2EE &l 59 6,700 81%
9B1H(A) &l ZEaE 60 6,700 81%
9OH2B(X) &l “EE 60 5,700 84%
9H3H(K) &l ZHaE 60 5,700 84%
9H4H(RK) &l Bz 60 6,440 82%
9OHS5H(E) &l ZHaE 60 7,440 79%
9H6H(L) &l “EE 60 7,440 79%
987H(H) &l ZHaE 60 7,440 79%
9H8H(AH) &l Bz 60 6,700 81%
9H9H(X) &l ZHaE 60 6,440 82%
9H10H(K) &l “EE 60 5,700 84%
9H11H(RK) &l ZHaE 60 5,700 84%
9OH12H(%&) &l Bz 60 6,440 82%
9H14H(H) &l ZaE 60 7,440 79%
9H16H(X) &l “EE 60 6,440 82%
9H17H(K) &l ZHaE 60 5,700 84%
9H18H(K) &l ZaE 60 5,700 84%
9OH19H(&) &l ZhE 60 6,700 81%
9H21H((H) &l ZaE 60 6,700 81%
9H22H(H) &l ZhE 60 6,700 81%
9H24H(K) &l ZaE 60 5,700 84%
9H25H(K) &l 2R 60 5,700 84%
9H26H(:E) &l ZaE 60 6,700 81%
9H27H(X) &l ZhE 60 6,700 81%
9H29H(H) &l “aE 60 6,700 81%
9H30H(N) &l ZhE 60 5,700 84%
10H1H(K) &l ZoaE 60 5,700 84%
10H2H(K) &l ZhE 60 5,700 84%
10H3H(GER) &l ZoaE 60 6,700 81%
10H4H(L) &l ZhE 60 5,700 84%
10H6H(H) &l ZaE 60 6,700 81%
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10H7H(X) &l ZHaE 60 5,700 84%
10H8H(K) &l ZhE 60 5,700 84%
10H9H(XK) &l ZHaE 60 5,700 84%
10H10H(%&) &l ZhE 60 6,700 81%
10H11H(X) &l ZHaE 60 6,700 81%
10H12H(H) &l ZhE 60 7,440 79%
10H14H(N) &l ZHaE 60 6,440 82%
10H15H(K) &l ZhE 60 5,700 84%
10H16H(K) &l ZHaE 60 5,700 84%
10H17H(%&) &l ZhE 60 5,700 84%
10H20H((H) &l ZHaE 60 6,700 81%
10H21H(CN) &l ZhE 60 5,700 84%
10H22H(K) &l ZHaE 60 5,700 84%
10H23H(XK) &l BEE 60 6,440 82%
10H24H(£) &l ZEaE 60 6,700 81%
10H25H(%) &l BEE 60 6,700 81%
9B1H(A) ZaE X5 61 9,500 72%
9OH2B(X) ZhE PAV) 61 9,000 73%
9H3H(K) ZaE PA) 61 9,500 72%
9H4H(K) 2EE PA) 61 8,500 75%
9H6H(L) ZaE PA) 61 9,000 73%
9H9H(X) ZhE PAV) 61 9,000 73%
9H10H(K) ZaE PA) 61 8,500 75%
9H11H(XK) 2EE PAV) 61 9,000 73%
9H14H(H) ZaE PA) 61 8,500 75%
9H15H(H) ZhE PAV) 61 9,000 73%
9H16H(N) ZaE PAV) 61 9,500 72%
9H17H(K) ZhE PA) 61 8,500 75%
9H18H(XK) ZaE PAV) 61 8,500 75%
9H21H(H) ZhE PA) 61 9,000 73%
9822H(H) ZaE PAV) 61 7,500 78%
9H23H(X) ZhE PA) 61 8,500 75%
9H25H(K) ZaE PAV) 61 8,000 76%
9H26H(E) ZhE PA) 61 8,500 75%
9H28H(H) ZaE PAV) 61 7,500 78%
9H29H(AH) ZhE PA) 61 9,500 72%
9H30H(N) ZaE PAV) 61 7,500 78%
10H1H(K) ZhE PA) 61 8,500 75%
10H2H(K) ZaE PAV) 61 9,000 73%
1084H(%) ZaE PA) 61 9,000 73%
10HA5H(H) ZaE PAV) 61 7,500 78%
1086H(H) “aE DAV 61 9,500 72%
10H7H(X) ZaE PAV) 61 7,500 78%
10H8H(K) “aE DAV 61 8,500 75%
10H9H(RK) ZaE PAV) 61 6,500 81%
105108 (&) ZaE PA) 61 9,500 72%
10H12H(H) ZaE PAV) 61 8,000 76%
10H13H((H) “aE PA) 61 8,500 75%
10H14H(CN) ZaE PAV) 61 8,500 75%
10H15H(K) ZaE DAV 61 8,500 75%
10H16H(K) ZaE PAV) 61 9,000 73%
108208 (H) ZaE PA) 61 8,500 75%
10H21H(CN) ZhE PAV) 61 8,500 75%
10H22H(K) ZaE A 61 9,000 73%
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9OH2H(X) ) ZHaE 62 9,000 73%
9H3H(K) PAV) ZhE 62 8,500 75%
9H4H(K) ) ZHaE 62 8,000 76%
9OH6H(TL) PAV) BEE 62 8,500 75%
9H7H(H) ) ZHaE 62 9,500 72%
9OH9H(X) PAV) ZhE 62 8,500 75%
9H10H(K) %) ZHaE 62 8,000 76%
9H14H(H) PV ZhE 62 9,500 72%
9H17H(K) ) ZHaE 62 9,000 73%
9H18H(K) PAV) ZhE 62 7,500 78%
9OH19H (&) ) ZHaE 62 7,500 78%
9H21H((H) PAV) ZhE 62 9,000 73%
9H22H(H) A7 ZHaE 62 9,500 72%
9H24H(K) PAV) BEE 62 8,500 75%
9H25H(K) PA) ZEaE 62 7,500 78%
9H26H(E) PAV) BEE 62 8,000 76%
9H28H(H) PAV) ZEaE 62 8,000 76%
9H30H(XN) PAV) “EE 62 7,500 78%
10H1H(K) PA) ZEE 62 8,000 76%
10H4H(L) PAV) BEE 62 7,500 78%
10A5H(H) PAV) ZEaE 62 8,000 76%
10H6H(H) PAV) “EE 62 8,500 75%
1087H(X) PAV) ZEE 62 7,500 78%
10H8H(K) PAV) BEE 62 7,500 78%
10H9H(RK) PA) ZEaE 62 7,500 78%
10H10H (&) PAV) “EE 62 9,000 73%
10H11H(X) PAV) ZHaE 62 8,500 75%
10H12H(H) PAV) Bz 62 6,500 81%
10H13H(AH) PAV) ZHaE 62 9,000 73%
10H148(XN) PAV) “EE 62 8,500 75%
10H15H(K) PAV) ZHaE 62 8,000 76%
10H16H(K) PAV) Bz 62 8,500 75%
10H17H(:&) PAV) ZHaE 62 8,500 75%
10H19H(H) PAV) “EE 62 8,500 75%
108520H(H) PAV) ZHaE 62 9,000 73%
10H218(CXN) PAV) Bz 62 8,500 75%
10H22H(K) PAV) ZaE 62 7,500 78%
10H23H(K) PAV) “EE 62 7,500 78%
10H24H (&) PAV) ZHaE 62 9,500 72%
10H25H(%) PAV) ZaE 62 8,500 75%
9B1H(AH) ZaE PAV) 65 9,000 73%
9H2H(X) “aE PA) 65 6,500 81%
9H3H(K) ZaE PAV) 65 7,500 78%
9H4H(K) “aE DAV 65 7,500 78%
9H6H(L) ZaE PAV) 65 8,000 76%
9H7H(H) “aE PA) 65 8,500 75%
9H8H(AH) ZaE PAV) 65 7,500 78%
9H9H(N) g 2Y=] A5 65 7,500 78%
9H10H(K) ZaE PAV) 65 8,000 76%
9H11H(K) ZaE DAV 65 9,000 73%
9H13H(X) ZaE PAV) 65 9,500 72%
9H18H(K) ZaE DAV 65 7,500 78%
9H21H(H) ZhE PAa) 65 9,500 72%
9H22H(H) ZaE DAV 65 8,000 76%
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9H23H(XN) ZaE A 65 8,500 75%
9H25H(K) ZhE PAV) 65 6,500 81%
9H26H(:&) ZaE DAV 65 7,500 78%
9H27H(%) ZhE PAV) 65 7,500 78%
9H29H(H) ZaE DAV 65 9,000 73%
9H30H(XN) ZhE PAV) 65 7,500 78%
10H1H(K) ZaE A 65 7,500 78%
10H2H(K) ZhE PAV) 65 7,500 78%
10H3H(ER) ZaE DAV 65 8,000 76%
10H4H(L) ZhE PAV) 65 8,500 75%
1085H((H) ZaE DAV 65 9,500 72%
10H6H(AH) ZhE PAV) 65 8,500 75%
10H7H(X) ZaE PA) 65 7,500 78%
10H8H(K) ZhE PA) 65 8,500 75%
10H9H(RK) ZaE PA) 65 7,500 78%
10H10H (&) ZhE PA) 65 8,500 75%
10H11H(X) ZaE X5 65 8,000 76%
10H12H(H) ZhE PA) 65 8,500 75%
10H13H(AH) ZaE X5 65 9,000 73%
10H148(N) ZhE PA) 65 8,000 76%
10H15H(K) ZaE PA) 65 7,500 78%
10H16H(XK) 2EE PAV) 65 9,000 73%
10H17H(&) ZaE X5 65 8,500 75%
10H18H(*E) ZhE PA) 65 7,500 78%
10H19H(H) ZaE X5 65 8,500 75%
10H218(CN) ZhE PA) 65 7,500 78%
10H22H(K) ZaE PAV) 65 6,500 81%
10H23H(XK) 2EE PA) 65 7,500 78%
10H24H (&) ZaE PAVJ) 65 7,500 78%
10H25H(%) ZhE PAV) 65 6,500 81%
9H2H(X) PAV) ZHaE 66 7,500 78%
9H3H(K) PAV) Bz 66 7,500 78%
9H4H(K) PAV) ZHaE 66 9,500 72%
9HS5H(E) PAV) ZhE 66 8,000 76%
9H6H(L) PAV) ZHaE 66 9,000 73%
9H7H(H) PAV) ZhE 66 9,000 73%
9H9H(X) PAV) ZaE 66 8,500 75%
9H13H(%) PAV) ZhE 66 9,500 72%
9H17H(K) PAV) ZHaE 66 7,500 78%
9H19H(:&) PAV) ZaE 66 9,000 73%
9H20H(x) PAV) ZhE 66 9,500 72%
9H21H(H) PAV) ZaE 66 9,500 72%
9H24H(K) PAV) ZhE 66 9,000 73%
9H25H(K) PAV) ZaE 66 7,500 78%
9H26H(&) PAV) 2R 66 8,000 76%
9H28H(H) PAV) ZaE 66 9,000 73%
9H29H(H) PAV) ZhE 66 8,500 75%
9H30H(XN) PAV) “aE 66 8,000 76%
10H1H(K) PAV) ZhE 66 8,500 75%
10H2H(K) PAV) ZoaE 66 8,500 75%
10H3H(ER) PAV) ZhE 66 9,000 73%
10H4H(L) PAV) ZoaE 66 8,000 76%
10A5H(H) PAV) “EE 66 9,000 73%
10H6H(H) %) ZaE 66 8,500 75%
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10H7H(X) ) ZHaE 66 8,500 75%
10H8H(K) PAV) ZhE 66 9,500 72%
10H9H(K) ) ZHaE 66 8,500 75%
10H10H(%&) PAV) BEE 66 9,000 73%
10H11H(X) ) ZHaE 66 9,000 73%
10H14H(N) PAV) ZhE 66 8,000 76%
10H15H(K) %) ZHaE 66 8,000 76%
10H16H(XK) PV ZhE 66 9,000 73%
10H17H(%&) ) ZHaE 66 6,500 81%
10H18H(%) PAV) g 2Ya] 66 8,500 75%
10H21H(N) ) ZHaE 66 8,500 75%
10H23H(K) PAV) ZhE 66 8,500 75%
10H24H(%) A7 ZHaE 66 8,500 75%
9H1H((A) AN it 71 9,500 76%
9H2H(X) AN ok 71 9,500 76%
9H3H(K) AN it 71 7,500 81%
9H4H(RK) AN ok 71 8,500 79%
9HS5H(E) AN it 71 9,500 76%
9H6H(L) AN ok 71 9,500 76%
9H7H(H) AN it 71 8,500 79%
9H8H(A) AN ok 71 8,500 79%
9H10H(K) AN it 71 6,500 84%
9H11H(K) AN ok 71 9,500 76%
9H14H(H) AN it 71 7,500 81%
9H15H(H) AN ok 71 9,500 76%
9H17H(K) AN it 71 8,500 79%
9H18H(XK) ABR ik 71 6,500 84%
9H19H(%&) AN it 71 8,500 79%
9H20H(X) ABR ik 71 9,500 76%
9H21H(H) AN it 71 6,500 84%
9822H(H) ABR ik 71 7,500 81%
9H23H(X) AN it 71 9,500 76%
9H24H(K) ABR ik 71 9,500 76%
9H25H(K) N Giibs) 71 9,500 76%
9H26H(:&) ABR ik 71 7,500 81%
9H29H(H) AN it 71 8,500 79%
9H30H(N) ABR ik 71 6,500 84%
10H1H(K) AN it 71 5,500 86%
10H2H(K) ABR ik 71 6,500 84%
10H3H(GE) AN it 71 7,500 81%
10H4H(L) AN o) 71 9,500 76%
1085H(H) AN it 71 7,500 81%
10H6H(H) AN it 71 7,500 81%
10H7H(X) AN it 71 5,500 86%
10H8H(K) AN e 71 5,500 86%
10H9H(RK) AN it 71 5,500 86%
10H10H(%&) AN it 71 7,500 81%
10H12H(H) AN it 71 7,500 81%
10H13H(AH) AN s 71 8,500 79%
10H14H(N) AN it 71 6,500 84%
10H15H(K) AN s 71 5,500 86%
10H16H(K) AN it 71 7,500 81%
10H17H(%&) AN e 71 7,500 81%
10H18H(%) ABR it 71 7,500 81%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

10H19H(H) ABR it 71 7,500 81%
10H20H(H) AN ot 71 6,500 84%
10H218(XN) ABR it 71 5,500 86%
10H22H(K) AN ot 71 6,500 84%
10H23H(K) ABR it 71 7,500 81%
10H24H(%&) AN ot 71 7,500 81%
10H25H(%) ABR it 71 7,500 81%
9H3H(K) it AN 72 9,500 76%
9H4H(K) b AP 72 9,500 76%
9OH6H(TL) it AN 72 9,500 76%
9H7H(H) b AP 72 9,500 76%
9H10H(K) it N 72 8,500 79%
9H11H(XK) b AP 72 9,500 76%
9H14H(H) ik AN 72 8,500 79%
9H16H(X) Eolb) AP 72 9,500 76%
9H17H(K) ik AN 72 9,500 76%
9H18H(K) o) AP 72 9,500 76%
9H22H(A) Eoibi) KB 72 8,500 79%
9H23H(X) Eolb) AP 72 8,500 79%
9H24H(K) ik AN 72 7,500 81%
9H25H(K) o) AP 72 8,500 79%
9H28H(H) ik KB 72 7,500 81%
9H29H(H) Eolb) AP 72 9,500 76%
9H30H(XN) ik AN 72 9,500 76%
10A5H(H) Eolb) AP 72 9,500 76%
1086H(H) ik KB 72 7,500 81%
10H7H(X) o) ABR 72 5,500 86%
10H8H(K) Eoibi) AP 72 7,500 81%
10H9H(RK) b, ABR 72 6,500 84%
10H12H(H) Eoibi) AP 72 6,500 84%
10813H(AH) b, ABR 72 8,500 79%
10H17H (%) Eoibi) AP 72 8,500 79%
10H18H(X) b, ABR 72 8,500 79%
10H19H(H) Eoibi) AP 72 8,500 79%
108520H(H) b, ABR 72 7,500 81%
10H21H(N) Eoibi) AP 72 7,500 81%
10H23H(K) o) ABR 72 6,500 84%
10H25H(%) Eoibi) AP 72 7,500 81%
9B1H(A) ABR ik 73 8,500 79%
9H4H(K) AN it 73 6,500 84%
9H6H(L) AN it 73 9,500 76%
9H10H(K) AN it 73 9,500 76%
9H11H(XK) AN it 73 8,500 79%
9H13H(%) AN it 73 9,500 76%
9H16H(N) AN ot 73 9,500 76%
9H17H(K) AN it 73 8,500 79%
9H19H(&) AN it 73 7,500 81%
9H20H(x) AN it 73 7,500 81%
9H22H(H) AN it 73 9,500 76%
9H24H(K) AN it 73 9,500 76%
9H25H(XK) AN it 73 6,500 84%
9H27H(X) AN it 73 8,500 79%
9H29H(H) AN e 73 9,500 76%
10H1H(K) ABR it 73 6,500 84%
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10H2H(K) ABR it 73 7,500 81%
10B3H(%) AN ot 73 7,500 81%
10H4H(%L) ABR it 73 6,500 84%
1085H((H) AN ot 73 9,500 76%
10H6H(H) ABR it 73 9,500 76%
10H7HX) AN ot 73 7,500 81%
10H8H(K) ABR it 73 6,500 84%
10H9H(K) AN ot 73 6,500 84%
10H10H (&) ABR it 73 6,500 84%
10H14H(N) AN ot 73 7,500 81%
10H15H(K) ABR it 73 5,500 86%
10H16H(K) AN ot 73 8,500 79%
10H19H(H) ABR it 73 7,500 81%
10H20H(H) AN it 73 7,500 81%
10H21H(AN) AN ok 73 6,500 84%
10H24H(%&) AN it 73 7,500 81%
9H4H(K) o) AP 74 8,500 79%
9H6H(L) Eoibi) KB 74 8,500 79%
987H(H) Eolb) AP 74 9,500 76%
9H8H(AH) ik AN 74 9,500 76%
9H9H(X) o) AP 74 8,500 79%
9H10H(K) ik KB 74 8,500 79%
9OH12H(:&) Eolb) AP 74 9,500 76%
9H14H(H) ik AN 74 8,500 79%
9H16H(X) Eolb) AP 74 8,500 79%
9H17H(K) ik KB 74 9,500 76%
9H19H(:&) o) ABR 74 8,500 79%
9H20H(%E) Eoibi) AP 74 9,500 76%
9821H(H) b, ABR 74 9,500 76%
9H22H(H) Eoibi) AP 74 7,500 81%
9H23H(X) b, ABR 74 8,500 79%
9H24H(K) Eoibi) AP 74 8,500 79%
9H25H(RK) b, ABR 74 7,500 81%
9H27H(X) Eoibi) AP 74 8,500 79%
9H28H(H) b, ABR 74 8,500 79%
9H30H(XN) Eoibi) AP 74 7,500 81%
10H1H(K) o) ABR 74 6,500 84%
10H2H(K) Eoibi) AP 74 7,500 81%
10H3H(ER) b, ABR 74 6,500 84%
10H4H(XL) poibi) AP 74 8,500 79%
10HA5H(H) o) ABR 74 9,500 76%
1086H(H) poibi) AP 74 5,500 86%
10H7H(XN) o) ABR 74 6,500 84%
10H8H(K) poibi) AP 74 6,500 84%
10H9H(RK) b ABR 74 7,500 81%
10A11H(%) poibi) AP 74 7,500 81%
10H12H(H) b ABR 74 8,500 79%
10H14H(N) poibi) AP 74 7,500 81%
10H15H(K) o) ABR 74 7,500 81%
10H16H(K) Eoibi) KB 74 7,500 81%
10H17H(%&) o) ABR 74 7,500 81%
10H18H(%) Eoibi) KB 74 7,500 81%
10H19H(H) it KB 74 8,500 79%
10H20H(H) ok AP 74 6,500 84%
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10H21H(N) b AP 74 6,500 84%
10H22H(K) it AN 74 5,500 86%
10H23H(XK) b AP 74 5,500 86%
10H24H(%&) it AN 74 6,500 84%
10H25H(%) b AP 74 9,500 76%
9H1H((A) AN B 75 7,000 81%
9OH2H(X) ABR ERS 75 7,000 81%
9H3H(K) AN B 75 7,000 81%
9H4H(K) ABR ERS 75 7,000 81%
9H6H(L) ABR R 75 7,000 81%
9H8H(AH) ABR RS 75 7,000 81%
9OH9H(X) AN B 75 6,000 84%
9H10H(K) ABR ERS 75 6,000 84%
9H11H(K) AN ) 75 7,000 81%
9H16H(N) AN ERS 75 7,000 81%
9H17H(K) AN ) 75 7,000 81%
9H18H(XK) AN ERS 75 7,000 81%
9H24H(K) AN ) 75 6,000 84%
9H25H(K) AN ERS 75 5,500 85%
9OH26H (&) ABR ) 75 6,500 82%
9H29H(H) AN ERS 75 6,000 84%
9H30H(N) AN ) 75 6,000 84%
10H1H(K) AN ERS 75 6,000 84%
10H2H(K) AN ) 75 6,000 84%
10H3H(ER) AN ERS 75 6,500 82%
10H4H(L) ABR ) 75 6,000 84%
10H6H(H) ABR ERS 75 6,000 84%
10H7H(X) AN ) 75 6,000 84%
10H8H(K) ABR ERS 75 5,500 85%
10H9H(RK) AN ) 75 6,000 84%
105108 (&) ABR ERS 75 6,500 82%
10H11H(X) KPR ) 75 6,000 84%
10H14H(CN) ABR ERS 75 6,000 84%
10H15H(K) AN RS 75 5,500 85%
10H16H(K) ABR ERS 75 6,000 84%
10H17H (%) KPR ) 75 6,500 82%
10H18H(X) ABR ERS 75 5,500 85%
10H19H(H) AN ) 75 6,500 82%
108520H(H) ABR ERS 75 5,500 85%
10H21H(N) AN RS 75 5,500 85%
10H22H(K) ABR EERS 75 5,500 85%
10H23H(K) AN RS 75 6,000 84%
10H24H (&) ABR RS 75 6,500 82%
10H25H(%) AN RS 75 5,500 85%
9H1H(H) S N 76 6,000 84%
9H2H(X) ) AP 76 7,000 81%
9H3H(K) S N 76 6,000 84%
9H4H(K) ) AP 76 6,000 84%
9H6H(L) eSS ABR 76 7,000 81%
9H8H(AH) ) KB 76 7,000 81%
9H9H(AN) eSS N 76 6,000 84%
9H10H(K) ) KB 76 6,000 84%
9H11H(XK) eSS KB 76 6,000 84%
9H16H(X) RS AP 76 6,000 84%
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9H17H(K) E AP 76 6,000 84%
9H18H(XK) RER AN 76 6,000 84%
9H20H(L) S AP 76 6,000 84%
9H21H(H) RER AN 76 6,000 84%
9H22H(H) S AP 76 6,000 84%
9H24H(K) RER N 76 6,000 84%
9H25H(K) ERE AP 76 6,000 84%
9H26H(&) FE';EJ AN 76 6,500 82%
9H27H(L) S AP 76 6,000 84%
9H29H(H) RER AN 76 6,000 84%
9H30H(XN) RS AP 76 5,500 85%
10H1H(K) ) N 76 5,500 85%
10H2H(K) RS AP 76 5,500 85%
10H3H(E) ERE ABR 76 6,500 82%
10H4H(L) m' AP 76 5,500 85%
1085H((H) ) ABR 76 6,500 82%
10H6H(H) E AP 76 5,500 85%
10H78HX) ERE ABR 76 5,500 85%
10H8H(K) l:l:.l AP 76 5,500 85%
10H9H(K) ERS ABR 76 5,500 85%
105108 (&) m' AP 76 6,500 82%
10H11H(X) ) ABR 76 6,000 84%
10H14H(N) E AP 76 6,000 84%
10H15H(K) ERS ABR 76 5,500 85%
10H16H(K) l:l:.l AP 76 5,500 85%
10H18H(X) ERE ABR 76 5,500 85%
10H19H(H) m' ABR 76 6,500 82%
10H20H((A) ERE KPR 76 6,000 84%
10H21H(CN) us' ABR 76 5,500 85%
10H22H(K) ERS KPR 76 6,000 84%
10H23H(K) us' ABR 76 5,500 85%
10H24H(%&) ) KPR 76 6,000 84%
10H25H(%) EeUT ABR 76 6,000 84%
9H1H((A) AN PAV) 77 7,000 73%

9H2H(X) ABR PAVJ) 77 7,000 73%

9H3H(K) AN PAV) 77 7,000 73%

9H4H(RK) ABR PAVJ) 77 7,000 73%

9HS5H(E) KPR PAV) 77 7,000 73%

987H(H) ABR PAVJ) 77 7,000 73%

9H9H(X) AN DAV 77 7,000 73%

9H10H(K) ABR Aa) 77 7,000 73%
9H11H(K) AN DAV 77 7,000 73%
9H12H(&) ABR PAV) 77 7,000 73%
9H14H(H) AN DAV 77 7,000 73%
9H15H(H) ABR Aa) 77 7,000 73%
9H17H(K) AN DAV 77 7,000 73%
9H18H(K) ABR Aa) 77 7,000 73%
9H19H(%&) AN DAV 77 7,000 73%
9H21H(H) ABR PAV) 77 7,000 73%
9H22H(H) AN DAV 77 7,000 73%
9H23H(X) ABR Aa) 77 7,000 73%
9H24H(K) AN DAV 77 7,000 73%
9H25H(XK) AN PAV) 77 7,000 73%
9H26H(:E) ABR DAV 77 7,000 73%
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9H28H(H) ABR DAV 77 7,000 73%
9H29H(H) AN PAV) 77 7,000 73%
9H30H(XN) ABR DAV 77 7,000 73%
10H1H(K) AN PAV) 77 6,000 77%
10H2H(K) ABR DAV 77 6,000 77%
10H3H(E) ABR PAV) 77 6,000 77%
10H4H(XL) ABR DAV 77 6,500 75%
1085H((H) AN PAV) 77 6,000 77%
10H6H(H) ABR DAV 77 6,000 77%
10H7HX) AN PAV) 77 6,000 77%
10H8H(K) ABR DAV 77 5,500 79%
10H9H(K) AN PAV) 77 6,000 77%
10H10H(&) ABR DAV 77 6,000 77%
10H12H(H) AN PAV) 77 6,000 77%
10H13H(AH) AN X5 77 6,000 77%
10H15H(K) AN PAV) 77 5,500 79%
10H16H(K) AN X5 77 6,000 77%
10H17H (&) ABR PAV) 77 6,000 77%
10H19H(H) AN X5 77 6,000 77%
10H20H(H) AN PAV) 77 6,000 77%
10H21H(AN) AN X5 77 6,000 77%
10H22H(K) AN PAV) 77 6,000 77%
10H23H(K) AN X5 77 6,000 77%
10H24H(%&) ABR PAV) 77 6,000 77%
10H25H(%) AN X5 77 6,000 77%
9H1H((A) PAV) KB 78 7,000 73%
9H2H(X) PAV) ABR 78 7,000 73%
9H3H(K) PAV) KPR 78 7,000 73%
9OHS5H(E) PAV) ABR 78 7,000 73%
9H6H(L) PAV) AP 78 7,000 73%
987H(H) PAV) ABR 78 7,000 73%
9H8H(AH) PAV) AP 78 7,000 73%
9H9H(X) PAV) ABR 78 7,000 73%
9H10H(K) PAV) KPR 78 7,000 73%
9H11H(K) PAV) ABR 78 7,000 73%
9OH12H(%&) PAV) AP 78 7,000 73%
9H14H(H) PAV) ABR 78 7,000 73%
9H15H(H) PAV) AP 78 7,000 73%
9H17H(K) PAV) ABR 78 7,000 73%
9H18H(K) PAV) AP 78 7,000 73%
9OH19H(&) PAV) ABR 78 7,000 73%
9H21H(H) PAV) AP 78 7,000 73%
9H22H(H) PAV) N 78 7,000 73%
9H23H(X) PAV) AP 78 7,000 73%
9H25H(K) PAV) N 78 7,000 73%
9H26H(%&) PAV) KPR 78 7,000 73%
9H28H(H) PAV) ABR 78 7,000 73%
9H30H(XN) PAV) AP 78 7,000 73%
10H1H(K) PAV) N 78 5,500 79%
10H2H(K) PAV) KB 78 6,000 77%
10H3H(ER) PAV) ABR 78 6,000 77%
1085H(H) PAV) KB 78 6,000 77%
10H6H(AH) PAV) KB 78 6,000 77%
10H7H(X) %) AP 78 6,000 77%
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10H8H(K) ) AP 78 6,000 77%
10H9H(K) PAV) AN 78 6,000 77%
105108 (&) ) AP 78 6,000 77%
10H12H(H) PAV) AN 78 6,000 77%
10H13H((H) ) AP 78 6,000 77%
10H14H(N) PAV) N 78 6,000 77%
10H15H(K) %) AP 78 6,000 77%
10H16H(XK) PV AN 78 6,000 77%
10H17H(%&) ) AP 78 6,000 77%
10H18H(%) PAV) AN 78 6,500 75%
10H19H(H) ) AP 78 6,000 77%
10H20H(H) PAV) N 78 6,000 77%
10H21H(N) A7 AP 78 6,000 77%
10H22H(K) PAV) AN 78 6,000 77%
10H23H(K) PA) AP 78 6,000 77%
10H24H(%&) PAV) AN 78 6,000 77%
9B1H(A) AN = 79 10,500 75%
9OH2B(X) AN B5S 79 9,500 77%
9H3H(K) AN = 79 9,500 77%
9H4H(RK) AN B5S 79 9,500 77%
9H6H(L) AN = 79 10,500 75%
9H7H(H) AN B5S 79 10,500 75%
9H8H(A) AN = 79 9,500 77%
9H9H(X) AN B5S 79 9,500 77%
9H10H(K) AN = 79 8,500 79%
9H11H(K) AN B5S 79 8,500 79%
9H12H(:&) ABR B 79 9,500 77%
9H13H(%) AN (=) 79 10,500 75%
9H14H(H) ABR B 79 11,500 72%
9H16H(X) AN (=) 79 11,500 72%
9H17H(K) ABR B 79 9,500 77%
9H18H(K) AN (=) 79 9,500 77%
9H20H(X) ABR B 79 11,500 72%
9H21H(H) AN (=) 79 11,500 72%
9822H(H) ABR B 79 9,500 77%
9H26H (%) AN (=) 79 11,500 72%
9H28H(H) ABR B 79 11,500 72%
9H29H(H) AN (=) 79 11,500 72%
9H30H(N) ABR B 79 9,500 77%
10H1H(K) AN =) 79 9,500 77%
10H2H(K) ABR BS 79 9,500 77%
1085H(H) AN =) 79 12,500 70%
10H7H(XN) ABR BS 79 9,500 77%
10H8H(K) AN =) 79 9,500 77%
10H9H(RK) ABR B5S 79 9,500 77%
10H10H(%&) AN =) 79 12,500 70%
10H12H(H) ABR =) 79 12,500 70%
10H16H(K) AN =) 79 8,500 79%
10H17H(%&) ABR B 79 11,500 72%
10H19H(H) AN =) 79 11,500 72%
10H20H(H) ABR BES 79 11,500 72%
10H21H(N) AN =) 79 10,500 75%
10H22H(K) AN B5S 79 10,500 75%
10H23H(K) ABR =) 79 10,500 75%
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10H24H(%) ABR = 79 11,500 72%
9H1H((A) RS AN 80 10,500 75%

9OH2H(X) BS AP 80 10,500 75%

9OH3H(K) RS AN 80 9,500 77%

9H4H(K) BS AP 80 9,500 77%

9H5H(%) RS N 80 11,500 72%

9H6H(L) =] AP 80 11,500 72%

9H8H(AH) RS AN 80 10,500 75%

9H9H(N) BS AP 80 10,500 75%

9H10H(K) RS AN 80 9,500 77%
9H14H(H) =] AP 80 10,500 75%
9H16H(XN) RS N 80 10,500 75%
9H17H(K) BS AP 80 10,500 75%
9H18H(K) RS AN 80 11,500 72%
9H23H(N) B AP 80 10,500 75%
9H29H(AH) RS AN 80 10,500 75%
9H30H(N) B AP 80 10,500 75%
10H1H(K) RS KB 80 9,500 77%
10H2H(K) B AP 80 9,500 77%
1085H((H) RS AN 80 9,500 77%
10H6H(H) =] AP 80 9,500 77%
10H78HX) RS KB 80 9,500 77%
10H8H(K) B AP 80 9,500 77%
10H9H(K) RS AN 80 9,500 77%
10H12H(H) =] AP 80 11,500 72%
10H15H(K) RS KB 80 9,500 77%
10H16H(K) B ABR 80 9,500 77%
10H19H(H) RS AP 80 9,500 77%
10H21H(CN) B ABR 80 9,500 77%
10H22H(K) RS AP 80 9,500 77%
10H23H(K) B ABR 80 9,500 77%
10H24H(%&) RS AP 80 11,500 72%
9B1H(A) ABR B 81 10,500 75%

9OH2H(X) AN B5S 81 9,500 77%

9H3H(K) ABR BS 81 9,500 77%

9H4H(RK) AN B5S 81 9,500 77%

9H6H(L) ABR B 81 10,500 75%

9H7H(H) AN B5S 81 10,500 75%

9H8H(A) ABR BS 81 9,500 77%

9H9H(X) AN == 81 9,500 77%

9H10H(K) ABR BS 81 8,500 79%
9H11H(K) AN == 81 8,500 79%
9H12H(&) ABR BS 81 9,500 77%
9H13H(%) AN == 81 10,500 75%
9H14H(H) ABR B5S 81 11,500 72%
9H16H(X) AN == 81 11,500 72%
9H17H(K) ABR B5S 81 9,500 77%
9H18H(K) AN == 81 9,500 77%
9H20H(x) ABR BES 81 11,500 72%
9H21H(H) AN B5S 81 11,500 72%
9H22H(H) ABR BES 81 9,500 77%
9H26H(:E) AN =) 81 11,500 72%
9H28H(H) ABR B5S 81 11,500 72%
9H29H(H) ABR == 81 11,500 72%
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9H30H(XN) ABR = 81 9,500 77%
10H1H(K) AN B5S 81 8,500 79%
10H2H(K) ABR B 81 8,500 79%
10B3H(%) AN B5S 81 8,500 79%
10H7H(X) ABR = 81 8,500 79%
10H8H(K) AN B5S 81 8,500 79%
10H9H(XK) ABR = 81 8,500 79%
10H10H(%&) AN B5S 81 11,500 72%
10H12H(H) ABR B 81 12,500 70%
10H15H(K) AN B5S 81 8,500 79%
10H16H(K) ABR B 81 8,500 79%
10H17H(%&) AN B5S 81 11,500 72%
10H20H((H) ABR = 81 10,500 75%
10H21H(N) AN B5S 81 9,500 77%
10H22H(K) AN B5 81 9,500 77%
10H23H(K) AN B5S 81 9,500 77%
10H24H(£) AN B5 81 9,500 77%
9H1H((A) RS KB 82 10,500 75%
9H2H(X) B AP 82 10,500 75%
9H3H(K) RS AN 82 9,500 77%
9H4H(RK) B AP 82 8,500 79%
9H6H(L) RS KB 82 10,500 75%
9H8H(A) =] AP 82 8,500 79%
9H9H(X) RS AN 82 8,500 79%
9H10H(K) B AP 82 8,500 79%
9H11H(K) RS KB 82 9,500 77%
9H13H(%) =] ABR 82 10,500 75%
9H14H(H) RS AP 82 10,500 75%
9H16H(N) B ABR 82 9,500 77%
9H17H(K) RS AP 82 9,500 77%
9H18H(XK) B ABR 82 9,500 77%
9H22H(H) RS AP 82 10,500 75%
9H23H(N) B ABR 82 10,500 75%
9H24H(K) RS AP 82 9,500 77%
9H25H(XK) B ABR 82 10,500 75%
9H26H(E) RS AP 82 11,500 72%
9H27H(X) =] ABR 82 10,500 75%
9H29H(H) RS AP 82 8,500 79%
9H30H(N) B ABR 82 8,500 79%
10H1H(K) =] AP 82 8,500 79%
10H2H(K) =) N 82 8,500 79%
1084H(%) =] AP 82 9,500 77%
10H7H(XN) =) N 82 8,500 79%
10H8H(K) =] AP 82 8,500 79%
10H9H(RK) =) N 82 8,500 79%
10A11H(%) =] AP 82 11,500 72%
10H13H(AH) =) N 82 10,500 75%
10H14H(N) =] AP 82 8,500 79%
10H15H(K) =) N 82 8,500 79%
10H16H(K) =] KB 82 9,500 77%
10H18H(X) =) N 82 9,500 77%
10H19H(H) =] KB 82 8,500 79%
10H20H(H) BE KB 82 8,500 79%
10H218(XN) =] AP 82 8,500 79%
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10822H(K) =S N 82 8,500 79%
10H23H(XK) EIE N 82 8,500 79%
10H25H(L) =S NI 82 9,500 77%
9H1H(A) &) e 83 13,700 76%

9H2H(N) &[] b 83 11,700 80%

9H3H(7K) &) e 83 10,700 81%

9H4H(K) &[] b 83 11,700 80%

9H5H (&) &) e 83 13,700 76%

9H6H(L) &[] i 83 12,700 78%

9H7H(H) &) e 83 13,700 76%

9H9H(N) &[] i 83 10,700 81%

98 10H(K) &) e 83 10,700 81%
9H11H(K) &[] b 83 12,700 78%
98128 (&) &[] e 83 13,700 76%
9H14H(H) &[] il 83 14,700 74%
9B 16H(X) P 8 83 13,700 76%
9H17H(K) &[] il 83 10,700 81%
9H18H(K) &[] e 83 12,700 78%
9H19H (&) &[] il 83 11,700 80%
98208 (%) &[] e 83 14,700 74%
9H21H(H) &[] il 83 11,700 80%
9H22H(AH) &[] e 83 11,700 80%
9H23H(N) &[] il 83 12,700 78%
9824H(K) &[] e 83 11,700 80%
9H25H(K) &[] il 83 10,700 81%
9827H(*L) &[] e 83 11,700 80%
9H28H(H) &[] il 83 11,700 80%
9H29H(H) &[] e 83 12,700 78%
9H30H(N) &[] il 83 11,700 80%
108 1H(0K) &[] e 83 9,700 83%
10H2H(RK) &[] il 83 10,700 81%
1083H(E) &[] e 83 12,700 78%
10H4H (L) &[] e 83 14,700 74%
10H5H(H) &[] e 83 11,700 80%
10H6H(H) &[] il 83 12,700 78%
1087H(XN) &[] e 83 9,700 83%
10H8H(K) &[] il 83 9,700 83%
1089H(K) &[] e 83 9,700 83%
108 10H (&) &[] il 83 12,700 78%
10H12H(H) &[] e 83 11,700 80%
10H13H(A) & it 83 13,700 76%
108 14H(N) &[] e 83 11,700 80%
108 15H0K) & it 83 9,700 83%
108 16H(A) &[] e 83 11,700 80%
10817H(&) &) it 83 12,700 78%
10H18H(L) &[] e 83 11,700 80%
10H19H(H) &[] it 83 11,700 80%
10H20H(H) &[] e 83 11,700 80%
10H21H(N) &) il 83 10,700 81%
10822H(K) &) e 83 10,700 81%
10H23H(AK) & il 83 11,700 80%
10824H(&) &) e 83 11,700 80%
10H25H(%) &) e 83 12,700 78%
9H1H(A) e =[] 84 14,700 74%
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9828 (X) e 12 84 14,700 74%
9H6H (1) e 12 84 13,700 76%
9578 (H) e 12 84 12,700 78%
9H9H(N) i) gi=1Ea 84 14,700 74%
95108 (K) e 12 84 14,700 74%
9H12H(£) e 12 84 13,700 76%
95148 (H) e 12 84 13,700 76%
9H15H(A) e 12 84 14,700 74%
98178 (K) e 12 84 11,700 80%
9H18H(XK) e 12 84 12,700 78%
95198(£) e 12 84 13,700 76%
9H21H(H) e 12 84 12,700 78%
95228(A) e 12 84 12,700 78%
9H23H(X) i) 1 84 14,700 74%
95248 (K) e 1B 84 14,700 74%
9H25H(X) 8 1& 84 12,700 78%
98308 (N) e 1B 84 11,700 80%
1085H(H) 8 1& 84 12,700 78%
1086H(B) e 1B 84 12,700 78%
1087H(N) i) 1& 84 11,700 80%
1088H(K) e 1B 84 12,700 78%
10H9H(XK) 8 1& 84 9,700 83%
10812H(B) e 1B 84 11,700 80%
10813H(A) i) 1 84 13,700 76%
10817H(®) e 1B 84 12,700 78%
10818H(+) 8 1 84 13,700 76%
108198(H) e B 84 12,700 78%
10H20H(A) i 1& 84 12,700 78%
10821H(N) e s 84 11,700 80%
10H23H(X) i 1& 84 11,700 80%
108248H(®) e s 84 13,700 76%
10825H(+) i 1& 84 11,700 80%
9828 (N) IR e 87 11,700 80%
983H(K) Em e 87 10,700 81%
9548 (XK) IR e 87 14,700 74%
9H5H (&) 2 e 87 14,700 74%
988H(A) IR e 87 13,700 76%
9H9H(N) fahE S 87 12,700 78%
95108 (%K) IR e 87 12,700 78%
95128 (%) 2 b 87 14,700 74%
95148 (H) & R 87 14,700 74%
98178 (K) IR e 87 11,700 80%
9H18H(XK) & R 87 13,700 76%
9H208(1) 2 e 87 12,700 78%
9521H(H) & R 87 14,700 74%
95228 (A) IR e 87 14,700 74%
98248 (%K) & R 87 12,700 78%
95268 (%) 2 e 87 13,700 76%
9827H(1) IR R 87 12,700 78%
9H30H(N) &[T Sl 87 11,700 80%
1081H0K) IR R 87 11,700 80%
10H2H(X) IR it 87 12,700 78%
10A3H(2) & it 87 12,700 78%
10H4H(L) & e 87 11,700 80%




IBEX4Hi

pEERE P B2, — -
EELE 5|

10878H(XN) &[] e 87 11,700 80%
10H8H(K) &) e 87 12,700 78%
1089H(K) &[] i 87 10,700 81%
108 10H(&) &) e 87 10,700 81%
108 14H(N) &[] e 87 11,700 80%
108 15H0K) &) e 87 9,700 83%
10A16H(AK) &[] b 87 13,700 76%
10H19H(H) &) e 87 12,700 78%
10H20H(AH) &[] i 87 12,700 78%
10H218(N) &) e 87 12,700 78%
10A24H(&) &[] e 87 11,700 80%
9H1H(A) s f& i) 88 13,700 76%

9H2H(N) e =[] 88 12,700 78%

9H3H(K) e & 88 12,700 78%

9H4H(A) v =[] 88 12,700 78%

9H5H (%) e &[] 88 13,700 76%

9H6H(1) e =[] 88 13,700 76%

9B9H(X) s T 88 13,700 76%

9H10H(K) v =[] 88 13,700 76%
9H11H(K) e & 88 12,700 78%
9H13H(*L) e =[] 88 14,700 74%
9H14H(H) e &[] 88 12,700 78%
9H15H(H) e =[] 88 14,700 74%
9H16H(N) e & 88 13,700 76%
9H17H(K) v =[] 88 11,700 80%
9H18H(K) e &[] 88 13,700 76%
9H19H (&) b =[] 88 14,700 74%
9H20H(X) e & 88 13,700 76%
9H21H(H) b =[] 88 13,700 76%
9H22H(H) e & 88 11,700 80%
9H23H(N) v =[] 88 13,700 76%
9H24H(K) e & 88 10,700 81%
9H25H(K) v =[] 88 11,700 80%
9H26H (&) e & 88 11,700 80%
9H27H(*L) b =[] 88 11,700 80%
9H29H(H) e & 88 13,700 76%
9H30H(N) v =] 88 10,700 81%
108 1H(0K) e & 88 10,700 81%
10H2H(RK) v =[] 88 12,700 78%
1083H(E) 0] =] 88 11,700 80%
10H4H (L) 0] =[] 88 12,700 78%
10858(H) ] it 88 12,700 78%
10B6H(AH) v =[] 88 10,700 81%
1087H(XN) 0] =] 88 11,700 80%
10H8H(K) v =[] 88 11,700 80%
1089H(K) 0] =] 88 12,700 78%
10H11H(L) b =[] 88 11,700 80%
10H12H(H) 0] =] 88 12,700 78%
1081480N) v =[] 88 12,700 78%
108 15H(K) e =] 88 11,700 80%
10H16H(AK) v =[] 88 11,700 80%
10817H (&) e =] 88 11,700 80%
10H18H(*L) e &) 88 12,700 78%
10H19H(H) e =[] 88 13,700 76%
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10H20H((H) b @] 88 11,700 80%
10H218(CN) it &l 88 10,700 81%
10H22H(K) b @] 88 10,700 81%
10H23H(K) it &l 88 9,700 83%
10H24H (&) b @] 88 11,700 80%
10H25H(%) ik &l 88 14,700 74%
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